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KOCHI METRO SAHODAYA

ALL INDIA SECONDARY SCHOOL EXAMINATION
ENGLISH — Language and Literature

MODEL EXAMINATION (2020-21)
CLASS-X (Rationalised syllabus)

Time allowed: 3 Hours. Maximum Marks: 80

General Instructions:

1. This paper is divided into two parts: A and B. All questions are compulsory.

2. Separate instructions are given with each section and question, wherever necessary.
3. Do not exceed the prescribed word limit while answering the questions.

Part A (40 Marks)
READING (20 marks)
1. Read the passage given below.

The choices we make on a daily basis—wearing a seatbelt, lifting heavy objects correctly or purposely
staying out of any dangerous situation—can either ensure our safety or bring about potentially harmful
circumstances.

You and I need to make a decision that we are going to get our lives in order.
Exercising self-control, self-discipline and establishing boundaries and borders in our lives are some of the
most important things we can do. A life without discipline is one that’s filled with carelessness.

We can think it’s kind of exciting to live life on the edge. We like the image of “Yeah! That’s me! Living
on the edge! Woo-hoo!” It’s become a popular way to look at life. But if you see, even highways have
lines, which provide margins for our safety while we’re driving. If we go over one side, we’ll go into the
ditch. If we cross over the line in the middle, we could get killed. And we like those lines because they
help to keep us safe. Sometimes we don’t even realize how lines help to keep us safe.

I’m not proud of this, but for the first 20 years of my life at work, I ignored my limits. I felt horrible,
physically, most of the time. I used to tell myself “I know I have limits and that I've reached them, but I'm
going to ignore them and see if or how long I can get by with it.” I ran to doctors, trying to make myself
feel better through pills, vitamins, natural stuff and anything I could get my hands on. Some of the doctors
would tell me, “It’s just stress.” That just made me mad. I thought stress meant you don’t like what you do
or can’t handle life, and I love what I do. But I kept pushing myself, travelling, doing speaking
engagements and so on— simply exhausting myself.

Finally, I understood I was living an unsustainable life and needed to make some changes in my outlook
and lifestyle.

You and I don’t have to be like everyone else or keep up with anyone else. Each of us needs to be exactly
the way we are, and we don’t have to apologize for it. We’re not all alike and we need to find a comfort
zone in which we can enjoy our lives instead of making ourselves sick with an overload of stress and
pressure.



On the basis of your understanding of the passage, answer ANY TEN questions from the twelve that
follow. (1x10=10)

i. The reason why living on the edge has become popular, is because of the
a) constant need for something different.

b) population being much younger.

c) exhausting effort to make changes.

d) strong tendency to stay within our limits.

ii. Choose the quote that best captures the central idea of the passage from the following.
a) It is all about quality of life and finding a happy balance between work and friends.

b) To go beyond is as wrong as to fall short.

c) Life is like riding a bicycle. To keep your balance you must keep moving.

d) Balance is not something you find, it is something you create.

iii. Which of the characteristics are apt about the writer in the following context: “I
know [ have limits and that I've reached them, but I'm going to ignore them and
see if or how long I can get by with it.” ?

1. negligent

2. Indecisive
3. spontaneous
4. reckless

5. Purposeless
6. patient

a)2and5
b) 3and 6
c) 1and 4
d) 2and 3

iv. Which of the following will be the most appropriate title for the passage?
a) Much too soon

b) Enough is enough

¢) How much is too much?

d) Have enough to do?

v. The phrase “potentially harmful circumstances” refers to circumstances that can
(a) certainly be dangerous.

(b) be fairly dangerous.

(c) be possibly dangerous.

(d) seldom be dangerous.

vi. Select the option that makes the correct use of “unsustainable”, as used in the
passage, to fill in the blank space.

a) In the long run, the officials followed emergency procedures.

b) Emergency procedures were by the officials.

c) Officials reported an set of events during the emergency.

d) Officials admit that the emergency system is in the longer run.




vii. The author attempts to the readers through this write-up.
a) rebuke

b) question

c) offer aid to

d) offer advice to

viii. The author uses colloquial words such as “yeah” and “Woo-hoo!”. Which of the
following is NOT a colloquial word?

a) hooked

b) guy

c) stuff

d) stress

ix. What does the author mean when he says, “to get our lives in order”?
a) To resume our lives.

b) To organize our lives.

c) To rebuild our lives.

d) To control our lives.

x. Choose the option that correctly states the two meanings of ‘outlook’, as used in
the passage.

1. A person’s evaluation of life

2. A person’s experiences in life

3. A person’s point of view towards life
4. A person’s regrets in life

5. A person’s general attitude to life

a) (1) and (4)
b) (2) and (3)
c) (3) and (5)
d) (4) and (5)

xi. The author explains the importance of discipline and boundaries in our lives
using the example of

a) road accidents.

b) traffic rules.

¢) lines on the highway.

d) safe driving.

xii. What is the message conveyed in the last paragraph of the passage?
a) Love what you do.

b) Love yourself to love others.

c¢) Be the best version of yourself.

d) Be yourself.

2. Read the passage given below.
The UN’s 2017 International Year tells that sustainable tourism is an important tool for

development, most importantly in poor communities and countries. Today sustainability -
environmental, social, and economic - is increasingly recognised as the benchmark for all tourism



business. As noted by the UN World Tourism Organisation, 57% of international tourist arrivals will
be in emerging economies, by 2030. The various ‘“Tourism Terms’ are defined as follows:

CATEGORY DEFINITION
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Based on data collected by a survey by Travel Bureau, the following market profile of an
ecotourist was constructed: -

Age: 35 - 54 years old, although age varied with activity and other factors such as cost.

Gender: 50% female and 50% male, although clear differences based on activity were

found.

Education: 82% were college graduates, a shift in interest in ecotourism from those who have high
levels of education to those with less education was also found, indicating an expansion into
mainstream markets.

Household composition: No major differences were found between general tourists and
experienced eco tourists**

Party composition: A majority (60%) of experienced ecotourism respondents stated they prefer to
travel as a couple, with only 15% stating they preferred to travel with their families, and 13%
preferring to travel alone. (** experienced ecotourists = Tourists that had been on at least one
“ecotourism” oriented trip.)

Trip duration: The largest group of experienced ecotourists- (50%) preferred trips lasting 8-14
days.

Expenditure: Experienced ecotourists were willing to spend more than general tourists, the largest
group (26%).

Important elements of trip: Experienced ecotourists top three responses were:

(a) wildernesssetting, (b) wildlife viewing, (c) hiking/trekking.

Motivations for taking next trip: Experienced ecotourists top two responses were

(a)enjoy scenery/nature, (b) new experiences/places.

On the basis of your understanding of the passage attempt ANY TEN questions from the twelve that
follow. (1x10=10)

i. In the line “......recognised as the benchmark”, the word “benchmark” DOES NOT
refer to

a) a basis for something.

b) the criterion required.



c) the ability to launch something new.
d) a standard point of reference.

ii. The World Tourism Organisation of the UN, in an observation, shared that

a) emerging economies of the world will gain 57% of their annual profits from
International tourists.

b) countries with upcoming economies shall see maximum tourist footfall from all over
the world in the next decade.

c) a large number of international tourists in 2030 will be from developing countries.
d) barely any tourist in the next decade shall travel from an economically strong nation
to a weak one.

iii. One of the elements that is important to ecotourists on trip is
a) wild and untouched surroundings.

b) cultural exchange.

c) car and bus rides.

d) fully furnished flats.

iv. Choose the option that lists the correct answers for the following:

1. Asha Mathew, an NR], loves animals and wishes to travel to places that safeguard
their rights and inculcate awareness of their rights. What kind of tourist is she?

2. Gurdeep Singh from UK is an environmental scientist and has always chosen to
travel to places that are examples of a symbiotic relationship between man and nature.
What kind of tourist is he?

a) (1) is an ecotourist and (2) is a geotourist

b) (1) is an ethical tourist and (2) is a geotourist

¢) (1) is a sustainable tourist and (2) is a pro-poor tourist
d) (1) is a geotourist and (2) is a responsible tourist

v. Based on your understanding of the passage, choose the option that lists the inherent
qualities of geotourism.

1. showcases adventure sports 2. promotes landscape appreciations
3. promises luxurious travel 4. includes being environmentally responsible
5. believes in commercializing forests 6. initiates donations for the underprivileged

a)1&2
b) 5&6
c) 2&4
d) 3&5

vi. In the market profile of an ecotourist, the information on gender indicates that
a) female ecotourists were more than the male ecotourists.

b) the activity preferences were varied in females and males.

c) the choice of things to do on a trip were quite similar for both the genders.

d) male ecotourists were frequent travellers.

vii. The education aspect in the market profile of the ecotourist revealed that

a) mainstream market trends were popular with undergraduates.

b) ecotourists were only those who had basic education.

c) mainstream markets were popular tourist destinations for educated ecotourists.
d) ecotourism was no more limited to the small group of highly educated travellers.



viil. According to the survey conducted by the Travel Bureau, the total percentage of experienced
ecotourists who DID NOT prefer to travel alone was

a) 60%.

b) 75%.

c) 15%.

d) 13%.

ix. According to the survey, one of the most powerful driving forces leading experienced
ecotourism to invest in new trips was

a) setting up work stations in new places.

b) the chance to go camping in the wild.

c) competing with other ecotourists as frequent travellers.

d) the opportunity to travel to new places.

x. Choose the option that lists statement that is NOT TRUE.

a) Economically backward countries will benefit from sustainable tourism.

b) The tourism business currently recognizes sustainability as an important factor.

¢) Emerging economies will receive negligible international tourists in the near future.
d) The sustainability factor in tourism is a significant means for development.

xi. The survey clearly showed that the age range of ecotourists:
a) remained the same for the choice of tourist- attractions to visit.
b) changed with the monetary requirements for the trip.

¢) fluctuated due to male-female ratio.

d) was constant across various features of the trip.

xii. Who isn’t an experienced ecotourist?

a) The person who has travelled as an ecotourist once earlier.

b) The person who is yet to travel even once as an ecotourist.

¢) The person who is a regular ecotourism enthusiast and traveller.
d) The person who is not regularly travelling on ecotourism trips.

LITERATURE (10 marks)
3. Read the extracts given below and attempt ANY ONE, by answering the questions that follow. (5x1)

A. Suddenly she was startled by a voice. “Listen, child,” said the voice, “you shouldn’t stand like that. Sit
down.”

Sitting down, she looked to see who had spoken. It was an elderly man who had honestly been concerned
for her, but she was annoyed by his attention.

“There’s nobody here who’s a child,” she said haughtily. “I've paid my thirty paise like everyone else.”

The conductor chimed in. “Oh, sir, but this is a very grown-up madam. Do you think a mere girl could pay
her own fare and travel to the city all alone?”

Valli shot an angry glance at the conductor and said, “I am not a madam. Please remember that. And you've
not yet given me my ticket.”

“T'll remember,” the conductor said, mimicking her tone. Everyone laughed, and gradually Valli too joined
in the laughter.

i. How did Valli feel when the elderly man expressed concern that she was standing?
a) Rather shocked
b) Somewhat happy



c) Fairly displeased
d) Quite embarrassed

il. Choose the option that lists the set of statements that are NOT TRUE according to the
given extract.

1. Valli was travelling without a guardian.

2. The conductor was bullying Valli.

3. Valli was nervous in her interactions.

4. Valli was a child passenger.

5. Valli followed the elderly man’s advice.

6. Valli’s response to the elderly man was respectful.

7. It took Valli some time to participate in the jocular conversations.

) )

) )

) )
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iii. Pick the option that correctly classifies fact/s(F) and opinion/s (O) of the students
below.
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iv. Which word does ‘chimed in’ NOT correspond to?
a) Intervened
b) Interrupted
¢) Intersected
d) Interjected

V. Choose the characteristic displayed by the conductor when he addressed Valli and declared that she
couldn’t be ‘a mere girl’.

a) encouragement
b) indulgence

¢) embarrassment
d) authority



OR

B. The baker or bread-seller of those days had a peculiar dress known as the kabai. It was a single piece
long frock reaching down to the knees. In our childhood we saw bakers wearing shirt and trousers
which were shorter than full-length ones and longer than half pants. Even today, anyone who wears a
half pants which reaches just below the knees invites the comment that he is dressed like a pader.

-

e 7/

= il

(2) (3) (4)

i. Choose the answer that lists the correct option about the recording of the baker’s monthly accounts.

a) Option (1)
b) Option (2)
c) Option (3)
d) Option (4)

Question in lieu of Q 3B (i) for Visually Impaired Candidates.
The monthly accounts were:

a) written on the dress

b) remembered by the baker

c) written on the wall

d) calculated on the palm

ii. When the writer says, ‘Baking was indeed a profitable profession in the old days.’, he means that

a) baking isn’t as popular in Goa currently.

b) bakers have chosen to adopt other professions.

¢) baking, as a job, isn’t as gainful as it used to be.

d) bakers’ goods were of a better quality in earlier times.

iii. The statement that is TRUE about payment collection, according to the passage is:

a) The baker received payment on a daily basis.
b) The baker was paid for his services at the end of the month.
¢) The baker insisted that customers pay before the month-end.

d) The baker chose to receive payment any day of the month.

iv. The kabai was a ‘peculiar’ outfit as it was
a) a tight-fitting apparel.

b) too colourful.

¢) made of unsuitable materials.

d) a dress-like attire.

L.-
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v. The extract uses the phrase, ‘invites (the) comments’. Which of the following expressions is incorrect
with respect to the word ‘invites’?

11} trouble
&

r ’ T R
| (4) appdications [+ INVITE/S "': (2} pravers

R

13} guesks

a) Option (1)
b) Option (2)
¢) Option (3)
d) Option (4)

4. Read the extracts given below and attempt ANY ONE, by answering the questions that follow. (5 x 1)

A. But he’s locked in a concrete cell,
His strength behind bars,
Stalking the length of his cage,
Ignoring visitors.
He hears the last voice at night,
The patrolling cars,
And stares with his brilliant eyes
At the brilliant stars
i.  The fact that the tiger is ‘stalking the length of his cage’ tells us that he is
a)  restless.
b)  reckless.
c) resilient.

d) reverent

ii. What is the rhyme scheme of the given stanzas?
a) abcb; abcb
b) abcb; abed
¢) abcd; abed
d) abcd; abcb

iii. These stanzas bring out the contrast between
a) zoos and cities.
b) strength and weakness.

¢) freedom and captivity.



d) visitors and patrolling cars.

iv. What is the caged tiger NOT likely to say to the visitors?
a) “Stop staring”

b) “Set me free”
¢) “Join me"

d) “Go away”

v. The tiger’s ‘brilliant eyes’ reveal that he

a) hopes to be free and in the wild, someday.

b) is looked after well and is nourished and healthy.
¢) enjoys staring at the bright stars each night.

d) is well-rested and hence, wide-awake.

OR

B. I saw it go
Merrily bouncing, down the street, and then
Merrily over — there it is in the water!

No use to say ‘O there are other balls’:

An ultimate shaking grief fixes the boy

As he stands rigid, trembling, staring down
All his young days into the harbour where

His ball went

i. The poet uses the ball as a symbol of the boy’s
a) sense of adventure.

b) carefree childhood days.

c) ability to bounce back.

d) extended family.

ii. The poet feels that there is no point consoling the boy as
a) it would give him false hope.

b) he might demand for a new ball.
¢) it might distress him further.
d) whatever he has lost is irretrievable.



iii. The word ‘harbour’ DOES NOT have a meaning similar to
a) port

b) pier

¢) dock.

d) cargo.

iv. ‘Merrily over — there it is in the water!” The dash here is meant to convey
a) some familiar experience.

b) a feeling of excitement.

¢) a sense of unexpected interruption.

d) some thoughtful moments.

v. The word that DOES NOT indicate a physical manifestation of sorrow in the boy, is

a) worthless.
b) shaking.
¢) trembling.
d) rigid.

GRAMMAR (10 marks)

5. Choose the correct options to fill in the blanks to complete the note about the Wangala
Festival of Meghalaya. (1x3)

The Wangala -(i)- festival for the Garo in Meghalaya, Assam and Nagaland. It is a post- harvest
festival -(ii)- the end of the agricultural year. It is popularly known as ‘The Hundred Drums’ festival.

During the signature dance, the leading warrior -(iii)- with synchronised dance steps and specific
hand-head movements.

i) a)is important
b) are an important
c) was the important
d) is an important

ii) a) being celebrated for marking
b) celebrated to mark
¢) celebrated to marking
d) being celebrated for mark

iii) a) leads the youngsters
b) is lead the youngsters

c) was leading the youngsters
d) had leads the youngsters



6. Choose the correct options to fill in the blanks to complete Venu’s narration. (1x3)
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I saw Supanddi standing in the field. When I -(i)- doing there, he -(ii)- he was trying to win a
Nobel prize. I was confused and enquired how standing in the rice field would help him do so. He
stumped me by saying that he -(iii)- won Nobel prizes had all been out- standing in their fields!

Text to be used for Visually Impaired Candidates.

Venu: Suppandi, what are you doing standing all alone here?

Suppandi: Uncle, I’m trying to win a Nobel prize.

Venu: How will standing in my rice field help you win a Nobel?

Suppandi: because, that’s how it’s won. I’ve heard that the people who have won Nobel prizes
were all outstanding in various fields.

Venu: Oh!

(i) a) exclaimed what he was
b) told him what he was
c¢) asked him what he was
d) says to him about what

(ii) a) ordered that
b) refused that
¢) questioned that
d) replied that

(iii) a) has heard that people who has
b) was hearing that people who were
¢) had heard that people who had
d) did hear that people who had

7. Fill up by choosing the correct options for ANY FOUR of the six sentences given below. (1 x 4)
(1) You..oooooiveieeee consult the Thesaurus if you need groups of synonyms for those words.

a) had to
b) need to

c) used to
d) might

THAAE T



(ii) Everybody ................ keen to participate in the upcoming nukkad natak.

a) are
b) has
c)is

d) were

(iii) The good news is that................. volunteers dropped out this month than the last two.

a) fewer
b) less
c) few
d) a little

(iv)Itwas ............... historic day for the organisation when................. honour was bestowed
upon its employees.

a) a; an
b) an; the
c) the; a
d) an; a

(v) At this time tOMOITOW WE .......ccerverueruenreennenn our project details to ma’am.

a) are presenting

b) shall be presenting
c) have been presenting
d) will have presenting

(vi) The Komodo dragon................... follow its prey till it will eventually dies due to its venomous bite.

a) must
b) will
c) could
d) may

PART B (40 marks)
WRITING (2x5= 10 marks)

8. Attempt ANY ONE of the following in 100-120 words. (5 marks)

(A) You are Tabassum/Tarun, a resident of Satya Nagar Colony, Bhubaneshwar, Orissa. You
have noticed that some residents of your colony are repeatedly flouting quarantine rules laid out
during the outbreak of the COVID-19 pandemic.

Write a letter to the SHO of the local Police Station, drawing attention towards the same. Explain
how such acts impact the health of the community and request immediate intervention and strict
action.



OR

(B) You are Vaijanthi/Vijay from Prakasham Nagar, Secunderabad, Andhra Pradesh. Write a
letter to Book Haven Store, requesting home delivery of the books, stationery and art ma- terials you
had ordered telephonically. Share the reason for being unable to pick up the goods in person.
Confirm your address details and a convenient time slot.

9. Attempt ANY ONE of the following in 100-120 words. (5 marks)

(A) The chart below displays data about the number of digital devices purchased in Rishunagar
across the years 2015-2019. Write a paragraph analyzing the given data.

Digital devices purchased across vears in Rishunagar
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For Visually Impaired Candidates in lieu of Q9 A

The table below displays the responses of 85 college athlete-respondents, aged 16-24,
about sources of nutrition information. Write a paragraph analyzing the given data.
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OR
(B) Read the following excerpt from an article that appeared in the magazine section of a
local daily:

The ban on single-use plastic is impractical. The purpose of articles like bags and packaging is
ultimately to make human life easier. Plastic articles do this well, so they shouldn’t be banned.

Write a paragraph to analyse the given argument.
You could think about what alternative explanations might weaken the given conclusion
and include rationale / evidence that would strengthen / counter the given argument.

LITERATURE (30 marks)
10. Answer ANY TWO questions in 20-30 words each, from (A) and (B)respectively. (2x4=8)
(A) (any two) (2x2=4)

1) How did Peggy justify her cruel behavior towards Wanda?
i1) Describe how Custard’s reaction was different from that of others, on seeing the pirate?

ii1) Who, according to Nelson Mandela, is a courageous man?

(B) (any two) (2x2=4)
i) Why did Oliver Lutkin’s mother laugh as she chased him and Bill away?

i1) Why was it important for Mrs. Pumphrey to be a little cruel in order to be kind towards
Tricki?

iii) List any one characteristic of Bholi’s teacher with reference to her first day at school.
Give a reason for your answer.

11. Answer ANY TWO questions in 40-50 words each, from (A) and (B) respectively. (3x4=12)

(A) (any two) (3x2=6)

1) Annie writes that it was fortunate that Mr. Keesing took the joke the right way. Why does she

feel so?

i1) The use of symbolism in the poem ‘Fire and Ice’ conveys the poet’s message
effectively. Expand with reference to the poem.

ii1) Justify the poet’s allusion to Rapunzel in ‘Amanda’.

(B) (any two) (3x2=06)

1) Griffin’s brilliance as a man of science fades before his darker traits. Comment.

i1) Why do you think Mr. Weiherer was pleased that Richard Ebright not only put in the nightly
research hours towards butterflies, but also his other interests?

iii) What mademe Forestier exclaim in astonishment, when she saw Matilda, years after the
Minister’s ball?



12. Answer ANY ONE the following in 100-120 words. (5x1)

(A) Natalya and Ivan argued about the ownership of Oxen Meadows and the superiority of their
respective dogs in the play, The Proposal.

Imagine yourself as the playwright of the play. Based on your understanding of the personality traits
of Natalya and Ivan, write a dialogue based on an imaginary event, show- casing another argument
between them.

OR

(B) Read the extracts given below and comment on the difference in the nature of help both the
characters, of these two stories, received.

a) Suddenly I came out of the clouds and saw two straight lines of lights in front of me. It
was a runway! An airport! I was safe! I turned to look for my friend in the black aeroplane but the
sky was empty. [The Black Aeroplane]

b) All through the night Lencho thought only of his one hope: the help of God...The fol-
lowing Sunday, at daybreak he began to write a letter...It was nothing less than a let- ter to God...The
following Sunday Lencho came a bit earlier than usual to ask if there was a letter for him.... Lencho
showed not the slightest surprise on seeing the mon- ey, such was his confidence. [A Letter to God]

13. Answer ANY ONE of the following in 100-120 words. (5x1)
a) Hari Singh says- “He knew it but neither his lips nor his eyes showed anything.”

Anil successfully addressed the situation by not addressing it at all. Elaborate based on your
reading of The Thief’s Story’.

OR

b) Read the following quote by an American author, E. E. Hale.
“I am only one but, I am one. I cannot do everything but I can do something. And [ will not let what
[ cannot do interfere with what I do.”

In light of the quote above, explain Bholi’s evolution from a ‘dumb cow’ to a ‘masterpiece’ with the support given by
her teacher?
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ENGLISH — Language and Literature

General Instructions:
1. This paper is divided into two Parts: Part A & Part B. All questions are
compulsory.
2. Separate instructions are given with each section and question, wherever
necessary.

Read these instructions very carefully and follow them.
3. Do not exceed the prescribed word limit while answering the questions.

PART - A

Reading (20 marks)

L

1.

Read the passage carefully.

It’s an irony of our modern lives that while technology is continually invented that saves our
time, we use that time to do more and more things, and so our lives are more fast-paced and
hectic than ever. Life moves at such a fast pace that it seems to pass us by before we can really
enjoy it. However, it doesn’t have to be this way. Let’s rebel against a hectic lifestyle and slow
down to enjoy life.

2. A slower-paced life means making time to enjoy your mornings, instead of rushing off to
work in a frenzy. It means taking time to enjoy whatever you’re doing, to appreciate the
outdoors, to actually focus on whoever you’re talking to or spending time with — instead of
always being connected to a Blackberry or iPhone or laptop, instead of always thinking about
work tasks and emails. It means single-tasking rather than switching between a multitude of
tasks and focusing on none of them.

3. Slowing down is a conscious choice, and not always an easy one, but it leads to a greater
appreciation for life and a greater level of happiness. We are in a rush. We are making haste. A
compression of time characterises our lives. As time-use researchers look around, they see a
rushing and scurrying everywhere. Instant services rule, pollsters use electronic devices during
political speeches to measure opinions before they have been fully formed; fast food restaurants
add express lanes. Even reading to children, is under pressure. The volume “One Minute
Bedtime Stories™ consists of traditional stories that can be read by a busy parent in only one
minute. "Time is a gentle deity', said Sophocles. Perhaps it was, for him. These days it cracks
the whip. We humans have chosen speed and we thrive on it — more than we generally admit.
Our ability to work fast and play fast gives us power. It thrills us. And if haste is the
accelerator, multitasking is the overdrive.

4. A sense of well-being comes with this saturation of parallel pathways in the brain. We choose
mania over boredom every time. “Humans have never opted for slower,” points out the historian
Stephen Kern. There are definite ways to save time, but what does this concept really mean?
Does time saving mean getting more done? If so, does talking on a cellular phone at the beach
save time or waste it? Does it make sense to say that driving saves ten minutes from your travel
budget while removing ten minutes from your reading budget?

5. These questions have no answer. They depend on a concept that is ill formed; the very idea of
time saving. Some of us say we want to save time when we really want to do more and faster. It
might be simpler to recognize that there is time and we make choices about how to spend it,
how to spare it, how to use it and how to fill it. Time is not a thing we have lost. It is not a thing
we ever had. It is what we live in.



Q1. On the basis of your reading of the passage given above, answer any ten of the
following questions. (1x10=10)

1. What Sophocles said is outdated because

i) life today must be lived

ii) humans have no other choice but to chase time
iii) humans today believe in leading a fast paced life
iv) humans have admitted that time today is precious

2. What do electronic poll devices, instant services and fast food restaurants signify?
i) acceleration in life

ii) impatience of our times

iii) our need to work fast as it gives us power

iv) life today must be lived

3. According to the passage , we wish to save time because
i) we wish to accomplish more in a short period of time
ii) we hope to be more efficient and capable
iii) we wish to make appropriate choices
iv) time saved is time earned

4. What is the passage all about?

i) advocates the need to accelerate time so that we can meet our requirements
ii) recognizes the need to rush and scurry all the time

iii) advises us to recognize time and decide what to do with it

iv) appreciates those who invest time wisely

5.The irony stated in the passage is

i) technology is fast

ii) technology has made our life easier

iii) technology has changed the way we had lived before
iv) none of these

6. What happens when we slow down our life?

i) we tend to become lazy

ii) we appreciate our life

iii) we move in a slow pace

iv) time will come to us.

7. ‘Time is not a thing we have lost. It is not a thing we ever had. It is what we live in.” Which of the
following category does this statement belong?

i) Fact
ii) Opinion
iii) Fact and opinion

iv) None of the above



8. The phrase ‘cracks the whip’ means
i) to become trendy

ii) to lose one’s control

iii) to follow one’s ideal

iv) To push or urge someone to work harder.

9. Find out a word from paragraph 3 , which is similar to the word ‘to grow, develop, or be successful’.
i) haste

ii) thrills

iii) thrive

iv) overdrive

10. Find a word from Para 4 that means the same as ‘of being at maximum capacity’ is
i) mania

ii) bored

iii) saturation

iv) pathways

11. Find a word from Para 3 which is opposite to the word ‘contemporary’.

i) conscious

ii) haste

iii) traditional
iv) compression

12. Find a word from Para 1 which is opposite to the word ‘obliging’.
i) irony

ii) rebel

iii) hectic

iv) pace

II. Read the passage carefully:
Air pollution kills an estimated seven million people worldwide every year. WHO data shows
that 9 out of 10 people breathe air containing high levels of pollutants. More than 80% of people
living in urban areas that monitor air pollution are exposed to air quality 3 levels that exceed
WHO guideline limits, with low and middle-income countries suffering from the highest
exposures, both indoors and outdoors. Around 3 billion people still cook using solid fuels (such
as wood, crop wastes, charcoal, coal and dung) and kerosene in open fires and inefficient stoves.
Most of these people are poor, and live in low and middle-income countries.
Impacts on health



3.8 million people a year die prematurely from illness attributable to the household air pollution.
Among these 3.8 million deaths: « 27% are due to pneumonia ¢ 18% from stroke * 27% from
ischaemic heart disease * 20% from chronic obstructive pulmonary disease (COPD) ¢ 8% from
lung cancer.
Pneumonia

Exposure to household air pollution almost doubles the risk for childhood pneumonia and is
responsible for 45% of all pneumonia deaths in children less than 5 years old. Household air
pollution is also a risk for acute lower respiratory infections (pneumonia) in adults, and
contributes to 28% of all adult deaths.
COPD
One in four or 25% of deaths from chronic obstructive pulmonary disease in adults in low and
middle-income countries are due to exposure to household air pollution. Women exposed to high
levels of indoor smoke are more than twice as likely to suffer from COPD as women who use
cleaner fuels and technologies. Among men (who already have a heightened risk of COPD due to
their higher rates of smoking), exposure to household air pollution nearly doubles that risk.
Stroke

12% of all deaths due to stroke can be attributed to the daily exposure to household air pollution
arising from cooking with solid fuels and kerosene.
Ischaemic heart disease
Approximately 11% of all deaths due to ischaemic heart disease, accounting for over a million
premature deaths annually, can be attributed to exposure to household air pollution.
Lung cancer
Approximately 17% of lung cancer deaths in adults are attributable to exposure to carcinogens
from household air pollution caused by cooking with kerosene or solid fuels like wood, charcoal
or coal. The risk for women is higher, due to their role in food preparation.

Q2. On the basis of your reading of the passage given above, answer any ten of the

following questions. (1x10=10)
1. Around how many people die due to air pollution every year?
(i) more than seven million (ii) less than seven million
(iii) around seven million (iv) 3 billion

2. According to WHO data, around how many people breathe air containing high levels of pollutants?

(i) 9 out of 10 (ii) 5 out of 10

(iii) 6 out of 10 (iv) 10 out of 10

3. Which type of countries suffers from the highest exposures, both indoors and outdoors?
(i) developed (ii) low and middle-income

(iii) developing (iv) all of these

4. What do around 3 billion people still use for cooking?

(i) solar energy (ii) electric energy

(iii) liquid fuels (iv) solid fuels

5. What is the financial condition of these people living in low and middle-income countries?
(i) rich (ii) poor
(iii) medium (iv) very poor



6. Why do around 3.8 million people die prematurely every year?
(i) due to water pollution (i) due to air pollution
(iii) due to environmental pollution (iv) due to house hold air pollution

7. Name the disease that kills the lowest percentage from 3.8 million deaths.

(i) stroke (ii) lung cancer

(iii) pneumonia (iv) COPD

8. Name the cause of approximately 17% of lung cancer deaths in adults.
(i) using intoxicants (ii) exposure to sun

(iii) exposure to carcinogens (iv) all of these

9. Why do men have double risk in COPD?
(i) higher rates of smoking (ii) higher rates of strain
(iii) higher rates of stress (iv) higher rates of alcoholism

10. What is the cause of women having high risk for lung cancer?
(i) role in cooking (ii) due to passive smoking
(iii) due to household air pollution (iv) lack of exercise

11. A term in the passage which means the same as ‘of having no protection from something harmful’ is

(i) suffer (ii) premature
(iii) exposure (iv) chronic

12. Find out a word from the last paragraph which means ‘that can cause cancer’is
(i) cancer (ii) charcoal
(iii) attributable (iv) carcinogen

LITERATURE (10 MARKS )

III1. Read the extracts given below and attempt any one, by answering the questions that
follow. (5x1=9)5)

A. Chubukov: [aside] He’s come to borrow money. Shan’t give him any!
[aloud] What is it, my beauty?
Lomov: You see, Honoured Stepanitch I beg pardon Stepan Honouritch.... I mean, I’'m awfully excited,
as you will please notice.... In short, you alone can help me though [ don’t deserve it, of course ...and
haven’t any right to count on your assistance.

a)Who is Lomov?
i) A farmer ii) A landowner iii) A factoryworker iv) None of the Above

b) What purpose has he come for?
i)borrow money ii) He has come to propose Natalya

iii) borrow land iv) all of the above

¢) Which word in the passage means the same as very much?
i) excited ii) though iii) awfully. iv) deserve
d) The play is set in which country?



i) India ii) France iii) Russia iv) Japan

e) Who is the writer of the play "The Proposal"?

i) Robert Frost ii) Anton Chekov iii) Carolyn Wells iv) Robin Klein
OR

B. In life, every man has twin obligations- obligations to his family, to his parents, to his wife and children;
and he has an obligation to his people, his community, his country. In a civil and humane society, each man
is able to fulfil those obligations according to his own inclinations and abilities. But in a country like South
Africa, it was almost impossible for a man of my birth and colour to fulfil both of those obligations. In South
Africa, a man of colour who attempted to live as a human being was punished and isolated.

a) What are the obligations that every man has in life?

i) one is to his country and second is to his people
ii) one is to his family and second is to his community and country.

iii) to his family and relatives
iv) to his fellow mates and friends

b) Why was it impossible for a coloured man to discharge his obligations?

i) he was treated well by the officers
ii) he was put into starvation

iii) he was not able to meet his family
iv) he was punished and isolated.

¢) Find the word in the passage which has same meaning as ‘duty’.

i) abilities ii) inclination iii) obligation iv) humane
d) A word synonymous with intentions’ is ......... in the passage.
i) civil ii) attempt iii) isolated iv) Inclinations

e) What was it that the nation needed to be liberated from?

i) poverty ii) gender discrimination iii) deprivation iv) all of the above

IV. Read the extracts given below and attempt any one, by answering the questions that
follow. (5x1=5)

A. Belinda was as brave as a barrel full of bears,
And Ink and Blink chased lions down the stairs,
Mustard was as brave as a tiger in a rage,

But Custard cried for a nice safe cage.
a) How brave were the Kitten and the mouse?

i) The kitten and the mouse were so brave that they could scare away lions.

ii) The kitten and the mouse were so brave that they could scare away the pirate.
iii) The kitten and the mouse were so brave that they could scare away Mustard.
iv) The kitten and the mouse were so brave that they could scare away the dragon.



b) Why did Custard cry for a nice safe cage?

i) Custard cried for a nice safe cage because he was a small one.

ii) Custard cried for a nice safe cage because he was a coward.
iii) Custard cried for a nice safe cage because he wanted to relax.
iv) Custard cried for a nice safe cage because he was sick.

¢) Which word is similar to “anger”?

i) barrel
ii) brave
iii) chased
iv) rage

d) Which figure of speech has been used in the first and the third line of the passage?
i) simile.

ii) metaphor

iii) transferred epithet

iv) onomatopoeia

e) Name the poet

i) Robert Frost

ii) Ogden Nash

iii) John Berryman
iv) W.B Keats

OR

B. Don’t bite your nails, Amanda!
Don’t hunch your shoulders, Amanda!
Stop that slouching and sit up straight,
Amanda!

a) Amanda is getting instructions for what purpose?

i) Amanda is getting instructions as she was very dishonest.
ii) Amanda is getting instructions as she was disobedient.

iii) She was always nervous.
iv) Amanda is getting instructions as a part of her upbringing.

b) Give a synonym of ‘hunch’.
i) straight

ii) show

iii) bend

iv) kneel

¢) What does the speaker of above lines instruct Amanda in the first stanza?

i) Amanda is getting instructed for not trimming her nails and sitting lazily with her shoulders bent.
il) Amanda is getting instructed for biting her nails and sitting with her shoulders straight.
iii) Amanda is getting instructed for biting her nails and sitting lazily with her shoulders bent.



iv) Amanda is getting instructed for cutting her nails and sitting lazily with her shoulders bent.

d) What is the literary device used in the third line?
i) simile.

ii) metaphor

iii) personification

iv) Alliteration

¢) What will Amanda’s behaviour make people think?
i) her mother loves her

ii) her mother harasses her

iii) her mother is understanding

iv) both ‘a’ and ‘¢’

GRAMMAR (10 MARKS)

V. Choose the most appropriate options from the ones given below to complete the passage: (3x1=3)
A large team of United Nations Inspectors arrived in India under the terms of the International Forestry

Treaty. According to the Treaty all countries (a) to plant trees and maintain areas
of forest. So that they may absorb carbon dioxide emissions, (b) to the three degree rise in
global temperature so far in the century. The team (c) stay in India for three years.

(a) i) requires
ii) are required
iii) required
iv) have required

(b) i) which had contributed
i) which contributes
iii) which have contributed
iv) which will contribute

(c) i) may

i) will

iii) may not
iv)will not

VI. Read the dialogue given below and complete the paragraph: (3x1=3)

Interviewer: What are your qualifications?

Candidate: | have done Hotel Management from the National Institute of Hotel Management.
Interviewer: Do you have any work experience?

Candidate: I have worked at a hotel reception for a year.

The interviewer asked the candidate (a)............... The candidate replied that (b)............... The National
Institute of Hotel Management. To the interviewer’s enquiry as to whether he had any experiences, the
candidate said that (c)............... at a hotel reception for one year.

a) i) what his qualifications are?
ii) what his qualifications were.
iii) what are his qualifications?

iv) what are the qualifications.



b) i) he had done Hotel Management from
ii) he has done Hotel Management from
iii) he had hotel management from

iv) had done hotel management from

¢) i) he has worked
ii) he had worked
iii) had been working

iv) he must have worked

VIL. Fill in the blanks by choosing the correct options for any four of the six sentences

given below.

a) If he had asked me,
i) I would help him
ii) I will help him

iii) [ would have helped him

iv) I would have been helped him

b) The more you praise him -------=---------
i) he becomes more arrogant

ii) the more arrogant he becomes

iii) the more he becomes arrogant

iv) he has become arrogant

¢) No sooner did the teacher enter the class
i) than the students stood up

ii) when the students stood up

iii) than the students stand up

iv) then the students stood up

d) [ was informed thathe ............... a book.

(4x1=4)



i) had been reading
ii) has been reading
iii) had reading

iv) was read

e) [ hope thatyou ............... me soon.

i) have to
ii) must pardon
iii) pardon

iv) will pardon

f) He taught me that good deeds ............... never lost.
i) have
ii) are
iii) will
iv) is
PART -B

Writing (10 marks)

I. Attempt any one of the following in 100-120 words :- (5 marks)

A. You are Anuj/Anuja of 10, Panchali Nagar, Delhi. Last month you purchased a washing
machine from Grand Electronics, against a warranty of two years. But it stopped
working within a month. Write a letter to the Manager of Grand Electronics,
complaining about your problem and requesting him to replace the machine

immediately.

OR

B. You are Prantik/Prantika, the Secretary of the Historical Society of Nalanda Senior
Secondary School, Bombay. You want to take a group of forty students of
your school on a trip from Bombay to Delhi by a deluxe bus. Write a letter to Global
Travels, Bombay, enquiring about their terms and conditions for package tours. You can
ask about the duration of the trip, boarding and lodging charges, mode of payment, and

discount available if any.



II. Attempt any one of the following in 100-120 words :- (5 marks)
A. The data of rainfall in the years 2012-2017 is presented in the bar graph given below.
Write an analytical paragraph describing the data in 100-120 words.
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OR

B. Study the chart given below, which is the result of the survey conducted in the public
schools and government schools of Allahabad. This depicts the types of activities the
teenagers (Age 13- 19 years are involved during their leisure time). Write an analytical
paragraph describing the data in 100-120 words.
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LITERATURE (30 marks)

I11. Answer any four of the following questions in 20-30 words each. (2x4=8)



a) What ideals does Mandela set out for the future of South Africa in his speech?

b) Why did Lencho say the raindrops were like ‘new coins’?

c¢) Describe the seagull’s excitement when he saw his mother bringing food for him.

d) Bholi“s heart was overflowing with a ,,New hope and a new life*. What does the phrase
“the new hope and the new life”” mean?

e) What was the theory of viceroy butterflies and monarchs that Ebright developed which led
to unknown insect hormone?

f) Why was Mrs Pumphrey worried about Tricki?

IV. Answer any four of the following questions in 40-50 words each. (3x4=12)
a) Why did the author think that he ought to go back to Paris? What did he decide to do?
b) Where has the boy lost his ball and how does he feel about it?
¢) Why does Lomov think of marrying Natalya Stepanovna?
d) Hari Singh is both a thief and a human being.Explain.
e) Why did Fowler come to meet Ausable?Was he able to achieve his target?
f) What were the reasons for Matilda’s unhappiness?

V. Answer any one of the following in 100-120 words each. (1x5=5)
“To seek peace one should draw out the arrow of lamentation.” Based on the lesson
‘The Sermon at Benares’, what do you infer from Buddha’s statement?
OR
Valli’s journey to the city is also her induction into the mystery of life and death.
Elaborate with reference to the lesson ‘Madam Rides the Bus’.

VI. Answer any one of the following in 100-120 words each. (1x5=5)

“Footprints Without Feet” shows the negative impact of science when it is used without
scruples. How far is the statement true?

OR
“No one is born a thief. It is the circumstances that make him so.” Hari Singh in “The Thief’s
Story” is an example for this statement. Elucidate.
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The question paper is divided into Two sections

Section A: Reading Comprehension, Vocabulary Building & MCQ -- 40 marks

Section B: Composition, Grammar & Literature. -- 40 marks
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QUESTION PAPER 2020-21
SOCIAL SCIENCE
CLASS X

Time allowed : 3 Hours Max. Marks: 80

General Instructions:

()

(ii)
(iii)

(iv)
)

(vi)
(vii)

(viii)

Question paper comprises five Sections — A, B, C, D and E. There are 32 question in the
paper. All questions are compulsory.

Section A = Question no. 1 to 16 are Objective Type Questions of 1 mark each.
Section B — Question no. 17 to 22 are short answer type questions, carrying 3 marks
each. Answer to each question should not exceed 80 words.

Section C — Question no. 23 to 26 are source based questions, carrying 4 marks each.
Section D — Question no. 27 to 31 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

Section E — Question no. 32 is map bSased, carrying S marks with two parts, 32.1 from
History (2 marks) and 32.2 from Geography (3 marks)

There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be
attempted.

In addition to this, separate instructions are given with each section and question,
wherever necessary.

SECTION A - OBJECTIVE TYPE QUESTIONS

Identify the correct statement with regard to ‘The Act of Union-1707"
from the following options. 1)
A. The British monarchy surrendered the power to English Parliament
B. The British parliament seized power from Ireland.
C. The formation of the ‘United Kingdom of Great Britain’.
D. The British nation was formed as a result of a war with Scotland and Wales.
Which of the following group of powers collectively defeated Napoleon? 1)
A. England, France, Italy, Russia.
B. England, Austria, Spain, Russia.
C. Russia, Prussia, Austria, Britain
D. Russia, Prussia, Italy, Britain.
Why did Gandhiji organize Sathyagraha in 1917 in kheda district of Gujarat? (1)
A. To support the plantation workers
B. To protest against high revenue demand
C. To support the mill workers to fulfil their demand.
D. To demand loans for the farmer.
Fill in the blank: a1
The main aim of World Trade Organization is.....................
OR



10.

1.

12.

Green Revolution has helped...................... industry to expand in different parts of

India.

Choose the correctly matched pair about the Primitive Cultivation in India from the

following options: 1

A. Dahiya — Madhya Pradesh

B. Kumari— Jharkhand

C. Khil — Andhra Pradesh

D. Koman — Karnataka

Fill in the blank: 1

........... Rabi crop, cotton: kharif, Cucumber: zaid crop.

A. Wheat

B. Mustard

C. Barley

D. Cucumber

Identify the soil with the help of the following features. (1)

e Clayey texture and are highly fertile

e Rich in calcium carbonate, magnesium, potash

e Highly retentive of moisture

e Poor in phosphoric content.

A type of finger millet rich in protein and minerals, contains important amino acids and

which are not present in other starchy meals. 1)

A. Bajra

B. Rajma

C. Jowar

D. Ragi

Apart from the central and the state governments, which is the third type of government

practiced in Belgium? (1)

A. Religious Government

B. Community Government

C. Official Government

D. Presidential Government

Define civil war. (1)
OR

Define Prudential.

Which subjects come under Residuary lists? (1)
OR
Write two subjects comes under State list?

Which one of the following options describe ‘cheque’? 1)
financial Agreement made by the bank

Certain products for barter system

Trade in commerce and economy

A written,dated and signed instrument by a payee.

COow>



13. Read the given data and find out which country has most equitable distribution of

income. 1)
Monthly Income of Citizens in four countries in 2008
Countries | Citizen | Citizen Il | Citizen III | Citizen IV | Citizen V | Average
Country A | 10500 11200 10800 11000 10700 10840
Country B | 600 5000 600 600 600 1480
Country C | 550 10500 400 7500 2000 4190
Country D | 800 4800 700 5000 750 2410
A. Country A
B. Country B
C. Country C
D. Country D
14. Which one of the following is the basis to measure the development of a country
according to the World Bank? D
A. Literacy Rate
B. Per Capita Income
C. Gross Enrolment Ratio
D. Life Expectancy
OR
Which of the following is not an informal source of credit?
A. Money-lender
B. Relatives and Friends
C. Commercial Banks
D. Traders
15. Read the given statements in context of ‘SEZ’ and choose the correct
Option. (1)
A. Tt is the only way for economic development and growth of the country
B. The companies do not have to pay taxes for an initial period of 5 years
C. It has always given only positive results in all the countries
D. Leads to spread of technology, cultures and diseases from a region to another. (1)

16. In the question given below, there are two statements marked as Assertion (A)
and Reason (R). Read the statements and chose the correct option:
Assertion (A): Different people have different development goals
Reason (R): People want freedom, equality, security and respect

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.

SECTION B



17. What were the main causes of Quit India Movement? Explain. 3)
18. Explain the contribution of Giuseppe Mazzini in spreading revolutionary ideas of
Europe. 3)
19. Suggest and explain any three ways to protect land from degradation in various
states of India. A3)
20. ‘Judiciary plays an important role in Indian Federalism.” Justify the statement. &)
OR
Compare the features of ‘Coming Together Federation and Holding Together
Federation
21. Imagine yourself to be XYZ, a member of a women Self- Help Group. Analyse the (3)
ways through which your group provides loan to the members.
22. ‘More availability of resources will not bring economic development’. Justify the
statement. 3)
SECTION C
23. Read the source given below and answer the questions that follows: “)
While it is easy enough to represent a ruler through a portrait or a statue, how does one go
about giving a face to a nation? Artists in the eighteenth and nineteenth centuries found a
way out by personifying a nation. In other words they represented a country as if it were a
person. Nations were then portrayed as female figures. The female form that was chosen
to personify the nation did not stand for any particular woman in real life; rather it sought
to give the abstract idea of the nation a concrete form. That is, the female figure became
an allegory of the nation. You will recall that during the French Revolution artists used
the female allegory to portray ideas such as Liberty, Justice and the Republic. These
ideals were represented through specific objects or symbols. As you would remember, the
attributes of Liberty are the red cap, or the broken chain, while Justice is generally a
allegories were invented by artists in the nineteenth century to represent the nation. In
France she was christened Marianne, a popular Christian name, which underlined the idea
of a people’s nation. Her characteristics were drawn from those of Liberty and the
Republic — the red cap, the tricolour, the cockade. Statues of Marianne were erected in
public squares to remind the public of the national symbol of unity and to persuade them
to identify with it. Marianne images were marked on coins and stamps. Similarly,
Germania became the allegory of the German nation. In visual representations, Germania
wears a crown of oak leaves, as the German oak stands for heroism.
Answer the following MCQs by choosing the most appropriate option:
23.1. How does one go about giving a face to a nation? (0]
A. Portrait an Art
B. Portrayed female figures.
C. Print coins and currencies
D. Preservation of traditionalist beliefs.
23.2. Identify the purpose of a female allegory? (1)

A. To declare independence
B. To restore the power of the monarch
C. To personify a nation



D. To start a new era of ruling
23.3. Who represented ‘France’ as Nation?
A. Germania
B. Marianne
C. Francina
D. Brittania

23.4. The ideals were represented through specific objects or symbols. Choose
the correct symbols and ideals:
A. Red Cap — Equality
B. Oak leaves — Power
C. Weighing scales — Justice
D. Broken chain — Fraternity.
24. Read the text given below and answer the following questions.
Swapna, a small farmer, grows groundnut on her three acres of land. She
takes a loan from the money lender to meet the expenses of cultivation,
hoping that her harvest would help repay the loan. Midway through the
season the crop is hit by pests and the crop fails. Though Swapna sprays
her crops with expensive pesticides, it makes little difference. She grows
over the year into a large amount. Next year, Swapna takes a fresh loan
for cultivation. It is a normal crop this year. But the earnings are not
enough to cover the old loan. She is caught in debt. She has to sell a part
of'the land to pay off the debt.
24.1. The passage given above relates to which of the following options? (1)
A. Collateral Credit
B. Credit recovery is very painful
C. Failure of Crops
D. Credit is somewhere beneficial
24.2. According to the passage, Swapna faced which of the following
options-
A. Failure of the crop made the loan repayment impossible
B. She had to sell part of the land to repay the loan
C. Credit left her worse off
D. All of'the above
24.3. It refers to an agreement in which the lender supplies the borrower with money,

goods or services in return for the promise of future payment. It is called- (1)

A. Term of Credit
B. Credit

C. Depositor

D. Borrower

24.4. The above passage is an example of — (1)

A. Borrower’s loan
B. Debt trap

C. Collateral loan

D. Informal loan trap

25. Read the given extract and answer the following questions.

1)

1)

“4)

1)

“4)



Democracy stands much superior to any other form of government in promoting the
dignity and freedom of the individual. The passion for respect and freedom are the basis of
democracy. Let’s take the case of the dignity of women. The long struggles by women
have created some sensitivity that respect and equal treatment of women are necessary
ingredients of a democratic society. The same is true of caste inequalities. Democracy in
India has strengthened the claims of the disadvantaged and discriminated castes for equal
status and equal opportunity. Most individuals today believe that their vote makes a
difference to the way the government is run and to their own self-interest. Democratic
examination never gets over. As it passes one test, it produces another test. As people get
some benefits of democracy, they ask for more and want to make democracy even better.
The fact that people are complaining is itself a testimony to the success of democracy.
People have the right to choose their rulers,enjoys voting right and they have control over
their rulers. Citizens can participate in decision making process through election.. Thus,
democracy produces a government that is accountable to the citizens, and responsive to
the needs and expectations of the citizens. Democracy ensures that decision making is
based on norms and procedures. So, a citizen who wants to know if a decision was taken
through the correct procedures can find out this information. Citizens can take part in
decision making whenever they want. A democratic government is the people’s own
government. People wish to be ruled by representatives elected by them. Expectations
from democracy also function as the criteria for judging any democratic country. What is
most distinctive about democracy is that its examination never gets over. As democracy
passes one test, it produces another test. As people get some benefits of democracy, they
ask for more and want to make democracy even better. That is why, when we ask people
about the way democracy functions, they will always come up with more expectations,
and many complaints. The fact that people are complaining is itself a testimony to the
success of democracy: it shows that people have developed awareness and the ability to
expect and to look critically at power holders and the high and the mighty. A public
expression of dissatisfaction with democracy shows the success of the democratic project:
it transforms people from the status of a subject into that of a citizen. Most individuals
today believe that their vote makes a difference to the way the government is run and to
their own self-interest.

Answer the following MCQs by choosing the most appropriate option

25.1. People’s right to choose their own rulers is called as the — (1)

A. Right to Life
B. Right to Plebiscite
C. Right to Vote
D. Right to Referendum

25.2. What do democracies ensure regarding decision making? (1)
A. Decision taken by the head of the country
B. Process of Transparency
C. Rule of Law
D. Restricted popular participation regarding decision making.

25.3. Which of'the following is not true about democracy? (1)
A. It always worries about the majorities and public opinion
B. Discriminate women in the name of caste.
C. It improves the quality of decision making



D. Room to correct mistakes.
25.4. ‘Democracy shows the success of the democratic project’. Justify. 1)
A. Successfully eliminated the conflicts among people
B. More importance to quantity rather than quality
C. Ittransforms people from the status of a subject into that of a citizen
D. A government rule by ignorance

26. Read the sources given below and answer the questions that follow:(4)
Source A Pulses
Pulses need less moisture and survive in dry conditions. Beings
leguminous crops, all these crops except arhar help in restoring soil
fertility by fixing nitrogen from the air. Therefore, these are mostly
grown in rotation with other crops.
Source B Plantation
In this type of faming, a single crop is grown on a large area. The
plantation has an interface of agriculture and industry. Plantations
cover large tracts of land, using capital intensive inputs, with the help
of migrant labourers. All the produce is used as raw material in
respective industries.
Source C Jhumming
Jhumming is a cultivation practiced in North-Eastern regions of India.
It is an agricultural system in which plots of land are cultivated
temporarily, then abandoned and allowed to revert to their natural

vegetation.
26. 1. Pulses fix from air with soil and restore the soil fertility. (1)
A. Oxygen
B. Carbon dioxide
C. Nitrogen
D. Carbon monoxide
26. 2. Plantations cover large tracts of land, using inputs. (1)

A. Labour intensive
B. Capital intensive
C. Money intensive
D. All of the above
26. 3. Which type of agriculture method is Jhumming? (1)
A. Shifting cultivation
B. Intensive cultivation
C. Primary cultivation
D. Plantation
26. 4. Beings leguminous crops, all these crops except help in restoring soil
Fertility. (§))
Arhar
Legumes
Coarse grains
Cereals
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SECTION D —= LONG ANSWER QUESTIONS

27. How did different social groups participate in the Civil Disobedience
Movement? Explain. &)
OR
Explain the meaning and notion of ‘Swaraj’ as perceived by the
Plantation workers. How did they respond to the call of ‘the Non —Cooperation
Movement?
28. Describe the importance of tourism in India. ®)
OR
‘Roadways still have an edge over railways in India. Support the statement
with arguments/examples
29. Describe any five major functions of Political Parties in India. 5
30. Describe the path of accommodation adopted in Belgium. What were its
Its consequences? &)
31. Workers are exploited in the unorganized sector. Do you agree with this view.
Give reasons in support of your answer. &)
OR
Compare and Contrast the activities and functions of Private and Public
Sectors.

SECTION E — MAP SKILL BASED QUESTION

32.1. Two places A and B have been marked on the given outline map of India. Identify

them and write their correct names on the lines drawn near them

A. Indian National Congress session at this place in 1920

B. Mahatma Gandhi organized a Satyagraha Movement at this place for

indigo planters 2)

32.2. On the same outline map of India locate and label any THREE of the following

with suitable symbols

(a) Rana Pratap Sagar Dam

(b) Namrup Thermal Plant

(c) Bengaluru Software Technology Park

(d) Vishakhapatnam Port

(e) Naraura Nuclear Power Plant 3)
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Class X
Science (086) Theory
Time: 3 Hours Maximum Marks: 80

General Instructions:

(1) The question paper comprises four sections A, B, C and D. There are 36 questions in
the question paper. All questions are compulsory.

(1) Section—A - question no. 1 to 20 - all questions and parts thereof are of one mark
each. These questions contain multiple choice questions (MCQs), very short answer
questions and assertion - reason type questions. Answers to these should be given in
one word or one sentence.

(111) Section—B - question no. 21 to 26 are short answer type questions, carrying 2 marks
each. Answers to these questions should in the range of 30 to 50 words.

(1v) Section—C - question no. 27 to 33 are short answer type questions, carrying 3 marks
each. Answers to these questions should in the range of 50 to 80 words.

(v) Section—D — question no. - 34 to 36 are long answer type questions carrying 5 marks
each. Answer to these questions should be in the range of 80 to 120 words.
(vi) There is no overall choice. However, internal choices have been provided in some

questions. A student has to attempt only one of the alternatives in such questions.
(vil)  Wherever necessary, neat and properly labeled diagrams should be drawn

SECTION A

No. Questions Marks
Why silver chloride turns grey when exposed to sunlight?

1. OR 1
Identify the product obtained when potassium is added to water.

2. Write the chemical name of the compound of sodium which is an ingredient in 1
antacids.

3. Which of the following is not observed in a homologous series? Give reason for | 1

your choice.

Change in chemical properties.

Difference in —CH» and 14u molecular mass.
Gradation in physical properties.

Same functional group.
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4. On which factor does the color of the scattered white light depend?

5. Name the physical quantity which is same in all the resistors when they are
connected in series.

6 An object of size 2cm is placed at 25 cm in front of a concave mirror. If the
magnification produced by the mirror is 4, What is the size of the image?

OR
A lens has -4D power. Is the lens concave or convex?

7. State the direction of magnetic field in the following case:

| Forca on
| the conductor
Current +—

8. Draw the pattern of magnetic field lines of a straight conductor through which a
steady current flows.

0. Two wires, one of copper and other of manganin, have equal lengths and equal
resistances. Which wire is thicker? Given that resistivity of copper is lower than
that of manganin.

OR
An electric appliance draws a current of 0.4 A when the voltage is 200 volt.
Calculate the amount of charge flowing through it in one hour.
10. Why intestinal villi are highly vascular?
11. Mention the part of the body where gustatory and olfactory receptors are

located.




12.

What happens when planaria get cut into pieces?

OR
Give one example of aquatic food chain.

13.

Why should biodegradable and non-biodegradable waste be discarded in two
separate dustbins?

OR
Inheritance is possible because of a certain factor present in organisms. What is
the factor?

For question numbers 14, 15 and 16, two statements are given- one labeled
Assertion (A) and the other labeled Reason (R). Select the correct answer to
these questions from the codes a, b, ¢ and d as given below:

a. Both A and R are true, and R is correct explanation of the assertion.

b. Both A and R are true, but R is not the correct explanation of the

assertion.
c. A istrue, but R is false.
d. A is false, but R is true.

14.

Assertion: After white washing the walls, a shiny white finish on walls is
obtained after two to three days.

Reason: Calcium Oxide reacts with Carbon dioxide to form Calcium Hydrogen
Carbonate which gives shiny white finish.

15.

Assertion: Flowers are the organs of sexual reproduction in plants.

Reason: Flowers are always bisexual.

16.

Assertion: Mutation is a sudden change in the genetic material.

Reason: Variation is useful for the survival of a species.

17.

Read the following and answer any four questions from 17(i) to 17(v).

High UV radiation breaks down oxygen into oxygen atoms. These oxygen
atoms when combining with oxygen, they form ozone. The thickness of the

1x4




ozone layer over Antarctica was found to be decreased in the year 1985. This is
defined as ozone depletion. This is due to the use of chlorofluorocarbons in
refrigerator, Ac aerosols etc.

17(i)

What is the function of ozone in the upper stratosphere?

17(ii)

Name the group of chemical compounds which adversely affect the ozone layer.

17(iii)

How does ozone form?

17(iv)

Write one effect of 0zone on the ecosystem

17(v)

How can we protect the ozone layer?

18.

Read the following and answer any four questions from 18 (i) to 18 (v).

“Properties of elements are periodic functions of their atomic number”’-Modern
periodic law.

The earliest attempt to classify the elements resulted in grouping the then known
elements as metals and non-metals. Later further classifications were tried out as
our knowledge of elements and their properties increased.

We can observe gradual changes in valency, atomic size and metallic properties,
across the period and down the group in the periodic table. For example atomic
radii of the elements of the second period are given below:

Li Be B C N O

152pm 111pm 88pm 77pm 74pm 66pm

1x4

18.(i)

Atomic radii of the elements in the first group is given as follows:
K(231pm),Rb(244pm),Li(152pm),Na(186pm),Cs(262 pm)
Arrange them in decreasing order.

18.(ii)

How do you calculate the valency of an element from its electronic
configuration?




18.(iii)

On which side of the periodic table do you find the non-metals? Write two
examples of non-metal.

18.(iv)

How do you think the tendency to lose electron changes in a group?

18.(v)

Name two elements that have two electrons in their outermost shell.

19.

Read the following and answer any four questions from 19 (i) to 19 (v).

A rainbow is one of the most spectacular natural light shows observed in the sky.
A number of scientist and mathematician including Aristotle, Bacon, Theodoric,
Descartes, Newton, Young, Airy and Mie have worked on the explanation of
various observations on rainbows.

To understand the formation of rainbow one should actually study the refraction,
internal reflection, dispersion and total deviation of white light by the spherical
water drop.

A rainbow is produced when sunlight falls and gets diverted to the eyes of the
observer due to a large number of water droplets in the sky on a rainy day.

In addition to primary Rainbow there is a secondary rainbow. It occurs in the
same manner as the primary rainbow but due to two internal reflections. In nature
we can observe only primary and secondary rainbows. Higher order rainbows are
never seen since they are weaker than (i) the background sky brightness (ii) the
light reflected from the outside surface of the drops and (iii) the light transmitted
through the process with no internal reflections.

1X4

19.(i)

What is refraction?

19.(ii)

List two essential conditions for observing a rainbow.

19.(ii)

Why the red appears on the top of rainbow?

19.(iv)

Draw a labeled diagram to show the formation of rainbow.

19.(v)

Which of the following is correct regarding the propagation of light of different
colors of white light in air?

a. Red light travels fastest.

b. Blue light moves faster than orange light.

c. All the colors of white light move with same speed.




d. Yellow light moves with the mean speed as that of the red and violet
light.

20.

Read the following and answer any 4 questions from 20 (i) to 20 (v).

A coil of many circular turns of insulated copper wire wound on a cylindrical
insulating body (i.e. cardboard etc.) such that its length is greater than its
diameter is called solenoid. When current is flowing through the solenoid, the
magnetic field is present inside the solenoid. These current carrying solenoids
are used in electronic circuit and to form an electromagnet. By inserting the
magnetic field sensor between the coils of a solenoid, one can measure the
magnetic field inside the solenoid and determine the relationship between the (i)
magnetic field and current, and (ii) magnetic field and number of turns per
metre in a solenoid. On performing the experiment with the help of suitable

apparatus, the following observations were noted.
Talkele A

S No Current i

solenodd ()

Magnetic
Field
(x 1T

1 0= 2.51

2 1.0

214

4 T4

Table B

=1

M,

Lozl of
wonle kil
(L

Mo, af mirms
P IneErye
L

8 EFLTT
Field
(x 107 T

1 0.5 00 251
) 1.4 230 3. 14
3 1 & 300 377
4 2.0 350 4.39

1x4

20.(i)

From the table, what relationship would you observe between the (i) magnetic
field and current, and (ii) magnetic field and number of turns per metre of a
solenoid?

20.(ii)

How can magnetic field strength of a solenoid be increased?

20.(iii)

Draw the magnetic field pattern found inside the solenoid.

20.(iv)

For same current flowing through a solenoid and a straight conductor, the
magnetic field produced by a solenoid is much stronger than the magnetic field
produced by a straight current carrying conductor. State one reason to justify
this statement.

20.(v)

What is an electromagnet?




SECTION B

Write the function of following parts in a female reproductive system.

21. a) Ovary b) Oviduct  ¢) Uterus d) Placenta
OR
In mammals and birds why is it necessary to separate oxygenated and de-
oxygenated blood?

22. A student is viewing a permanent slide showing the stages of asexual
reproduction by budding in yeast under microscope. Draw diagrams of what he
observes.

23. Compound ‘X’ is the second member of the homologous series which has a
general formula C,Hz,. Write the name of the series and the structural formula of
the compound X.

OR
What is called structural isomers? Explain with example.

24. The following observations were made by a student on treating four metals P, Q,

R and S with the given salt solutions:
Sample | MgSOu{ag) En{NOgjz{ag) | CaSOg{aqg) NaaSOu(ag)
P Mo reaction Renction Reaction Mo reaction
RGOS BCCUTS
i} Feachon Beaction Keacthon Heaction
ERECUrS OOy DLCUTS MECUTS
H Mo Hesction Heaction Mo Feaction Mo Reaction
Occurs
= Mo Hescton Mo Reaction Mo Reaction Mo Beactiom
Based on the above observations:
a. Arrange the given samples in the increasing order of reactivity
b. Write the chemical formulae of products formed when Q reacts with CuSO4
solution.
25. If AO is a ray of white light ,then




ke

a. Describe what you will observe on the screen BC placed near the prism.
b. Write the name and state the cause of this phenomenon.

26.

a. Draw a schematic diagram of a circuit consisting of a 24 V battery, a 10 ohm
resistor, a 5 ohm resistor, a 1ohm resistor, an ammeter and a plug key all
connected in series.

b. Calculate the ammeter reading in this circuit.

SECTION C

27.

“It’s a matter of chance whether a couple will give birth to a boy or a girl”.
Justify the statement and support your answer with a neat illustration.

OR
Explain “Biological Magnification” with the help of an example.

28.

a. Label the Following parts (A.B,C.D)

b. What are the advantages of sexual reproduction over asexual reproduction?

29.

a. Name two sexually transmitted diseases.
b. State any two changes seen in boys at the time of puberty.




30.

Write the balanced chemical equation for the following and identify the type of
reaction in each case.

a. Lead nitrate —— Lead oxide +Nitrogen dioxide + oxygen
b. Iron +Water — Iron(Ill) oxide+ Hydrogen
c. Carbon dioxide + water — Glucose+ oxygen+ Water.

31.

The following table shows the position of five elements A, B, C, D and E in the
modern periodic table:

| E

Group— | ] dtm 1215 | I4 |15 I v |18

Periogad |

b
s
=<
=

Answer the following giving reasons:

a. Which element is a metal with valency two?
b. Which element is least reactive?
c. Out of D and E which element has a smaller atomic radius?

32.

a. Show the formation of magnesium chloride and sodium chloride by the
transfer of electrons.

b. Identify the ions present in these compounds.

¢. Why do ionic compounds not conduct electricity in the solid state?

33.

Refractive indices of media A,B ,C and D are given below:

Media Refractive Index

A 1.33

1.44

B
C 1.52
D

1.65




In which of these four media is the speed of light (i) maximum and (ii)
minimum? Find refractive index of medium D w .r.t medium A.

SECTION D

34.

Match the following pH values 1, 7, 10, 13 to the solutions given below:
* Milk of magnesia
* Gastric juices
* Brine
* Aqueous Sodium hydroxide.
Amit and Rita decided to bake a cake and added baking soda to the cake batter.
Explain with a balanced reaction, the role of the baking soda. Mention any other
use of baking soda.
OR

a. Four samples A, B, C and D change the colour of pH paper or solution to
Green, Reddish-pink, Blue and Orange. Their pH was recorded as 7, 2,
10.5 & 6 respectively. Which of the samples has the highest amount of
Hydrogen ion concentration? Arrange the four samples in the decreasing
order of their pH.

b. Rahul found that the Plaster of Paris, which he stored in a container, has
become very hard and lost its binding nature. What is the reason for this?
Also, write a chemical equation to represent the reaction taking place. (iii)
Give any one use of Plaster of Paris other than for plastering or
smoothening of walls.

35.

a. Draw a well labelled diagram of the human alimentary canal.
b. Mention the role of the following in digestion
i. Pepsin ii. HCL iii. Mucus

36.

a. Name an electrical instrument that that measures potential difference
between two points in a circuit.

b. Define the unit of potential difference in terms of SI unit of charge and
work. Draw the circuit symbols for a (i) variable resistor (ii) a closed
plug key.

c. Two electric circuits I and II are shown below.

R R. R
— A — AR

Which of the two circuits has more resistance?
il. Through which circuit more current passes?

-




1il. In which circuit, the potential difference across each resistor is
equal?

OR
A coil of insulated wire is connected to a galvanometer. What would be seen if a
bar magnet with its south pole towards one face of the coil is

L Moved quickly towards it.
il Moved quickly away from it.
1il. Placed near its one face?

a. Name and define the phenomenon involved in above activities.
b. Name the rule which can determine the direction of current in the above
case.




CLASS X SESSION- 2020-21

SUBJECT- MATHEMATICS
Time:3 Hours Max marks:80
General instructions:

1. This question paper contains two parts A and B.
2. Both part A and part B have internal choices.

Part-A:

1. It consists of two sections I and II.

2. Section I has 16 questions of 1 mark each. Internal choice is provided
in 5 questions .

3. Section II has 4 questions on case study. Each case study has 5 case
based sub-parts. An examinee is to attempt any 4 out of 5 sub-parts.

Part -B

1. It consists of three sections III, IV and V

2. Insection III, Question Nos. 21 to 26 are very short answer type
questions of 2 marks each.

3. Insection IV, question nos. 27 to 33 are short answer type questions
of 3 marks each.

4. In section V, question nos. 34 to 36 are long answer type questions of
5 marks each.

5. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3
marks and 1 question of 5 marks.

Part -A
Section -1

Section 1 has 16 questions of 1 mark each. Internal choice is provided in 5
questions.

1. Ifxy=180 and HCF(x, y)=3 then find LCM(x, y)
OR

. . 6 . . .
The decimal expansion of o will terminate after how many decimal

places.

2. Ifthe sum of the zeros of the quadratic polynomial 3x*- kx + 6 is 3 then
find the value ofk.



3. For what value of k,the pair of linear equations 3x + 5y =3 and
6x +ky =8 does not have solutions.

4. If the sum of two positive numbers is 44 and one number is three times
the other number then find the numbers.
5. How many two digit numbers are divisible by 3.

OR
In an Arithmetic Progression if d = - 4, n =7, a,= 4 then find the
value of a.

6. Find the value of p for which the quadratic equation px(x-3)+9=0.
7. Find the roots of the equation x*+7x+10=0.

OR
If x=3 is one root of the quadratic equation x?>-2kx — 6 =0 then find the
value of k.

8. In given figure if PL=5cm then find the perimeter of triangle PQR

9. Two tangents QA and QB are drawn to the circle with centre O such
that <AQB=60° with AQ=3cm. find the length of OQ.
OR
If two tangents inclined at an angle of 60° are drawn to a circle of radius 3
cm then find the length of each tangent.

10. If A ABC is similar to A DEF such that 2AB=DE and BC=8cm then
find EF.

11.In which ratio P divides the line segment AB of 6cm such that AP: AB
is 2:5.

12.Find the value of c0s60%sin30%+sin60°cos30°.



13. If x =2sin’0, y=2co0s?O + 1, then find x +y.

14. In a circle of diameter 42cm, if an arc subtends an angle of 60° at the
centre where 1=22/7, then what will be the length of arc.

15.Two right circular cones have their heights in the ratio 1:3 and radii in
the ratio 3:1, what is the ratio of their volumes?

16.Find the probability of getting a sum of 9 when two dice are thrown
simultaneously.

OR
The probability that it will rain tomorrow is 0.85. what is the probability
that it will not rain tomorrow ?
Section-11
Case study based questions are compulsory. Attempt any four
subparts of each questions. Each subparts carries 1 mark.
17. Case study based-1
SUN ROOM
The diagrams show the plans for a sun room. It will be built onto the wall
of'a house.The four walls of the sunroom are square clear glass panels.
The roof is made using

e Four clear glass panels, trapezium in shape, all the same size
¢ One tinted glass panel, half a regular octagon in shape
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(a) Refer to top view
Find the mid-point of the segment joining the points J(6, 17) and 1(9, 16)
(1) (33/2,15/2)
(i)  (3/2, %)
(i) (1572, 33/2)
(iv) (1/2,3/2)

(b) Refer to top view
The distance of the point P from the y-axis is
i 4
(i) 15
(i) 19
(iv) 25

(c) Refer to top view

The distance between the points A and S is

i 4
i) 8
(i) 16
(iv) 20

(d)Refer to front view

Find the co-ordinates of the point which divides the line segment joining
the points A and B in the ratio 1:3 internally.

(i) (8.5,2.0)
(i) (2.0,9.5)
(iii) (3.0, 7.5)
(iv) (2.5, 8.5)
(e) Refer to front view
If a point (x,y) is equidistant from the Q (9,8) and S (17,8),then
(i) x+y=13
(i) x-13=0
(i) y-13=0
(iv) x-y=I13



18.Case Study Based-2
SCALE FACTOR AND SIMILARITY SCALE FACTOR

A scale drawing of an object is the same shape as the object but a
different size.

The scale of a drawing is a comparison of the length it represents. The
scale is written as a ratio.

SIMILAR FIGURES

The ratio of two corresponding sides in similar figures is called the scale
factor.

[ERTE P

length in image

Scale factor= - . -
corresponding lengthin object

If one shape can become another using Resizing then the shapes are
similar.

Hence, two shapes are Similar when one can become the other after a
resize, flip, slide or turn.

(a) A model of a boat is made on the scale of 1:4. The model is 120cm
long. The full size of the boat has a width of 60cm. what is the width
of the scale boat?



(i)  20cm

(i)  25cm
(ii1) 15cm
(iv) 240cm

(b) What will effect the similarity of any two polygons?
(i)  They are flipped horizontally
(i)  They are dilated by a scale factor
(ii) They are translated down
(iv) They are not the mirror image of one another
(c) If two similar triangles have a scale factor of a : b. which statement
regarding the two triangles is true?
(i)  The ratio of their perimeters is 3a:b
(i1)  Their altitudes have a ratio a:b

voe . . . a
(iii) Their medians have a ratio o b

(iv)  Their angle bisectors have a ratio a®: b?
(d). The shadow of a stick Sm long is 2m. At the same time the shadow

of a tree 12.5m high is



(1)

(ii)
(iii)
(iv)

(e). Below you see a student’s mathematical model of a farmhouse roof with
measurements. The attic floor, ABCD in the model, is a square.The beams
that support the roof are the edges of a rectangular prism, EFGHKLMN.

E is the middle of AT.,F is the middle of BT, G is the middle of CT and H is

the middle of DT. All the edges of the pyramid in the model have
length of 12m.



What is the length of EF, where EF is one of the horizontal edges of the
block?
(1)24m
(i1) 3m
(iii) 6m
(iv)10m
19.Case Study Based-3
1000m HORSE- RACE

A stopwatch was used to find the time that it took a group of jockey to
run 1000m race.



Time (in sec) 0-20 20-40 | 40-60 | 60-80 80-100

No. of participants | 8 10 13 6 3
(jockey)

a)Estimate the mean-time taken by a jockey to finish the race
(i) 54
(i) 63
(iii) 43
(iv) 50

b)What will be the upper limit of the modal class?
(i) 20
(i1)40
(iii) 60
(iv) 80
¢) The constuction of the cumulative frequency table is useful in
determining the:
(i) Mean
(ii)Median
(ii1) Mode
(iv) All of the above
d)The sum of lower limits of the median class and modal class is

i) 60
(i) 100
(iii) 80
(iv) 140

e)How many participants finished the race within 1 minute?
(i 8
(i) 37
(i) 31
(iv) 18



20.Case Study Based-4
Study of Figures and Surfaces

Mayank a student of class 7" loves watching and playing with birds of
different kinds. One day he had an idea in his mind to make a bird-bath
on his garden. His brother who is studying in class 10" helped him to
choose the material and shape of the birdbath. They made it in the shape
of a cylinder with a hemispherical depression at one end as shown in the
figure below. They opted for the height of the hollow cylinder as 1.45m
and its radius is 30cm.

30 cm




By using the above information, find the following:

a) The curved surface area of the hemisphere is :

(i) 0.36m’
(i) 0.45m?
(iii)  0.26m?
(iv) 0.56m?
b)The curved surface area of the cylinder is:
(i) 0.78mm?
087

(i) —mm
(i) 0.87m’m’
(iv) 0.87nm>

c¢).The total surface area of the birdbath is:

(i) 2.3m?
(ii) 3.3m?
(iii) 3.5m?
(iv) 5.3m?
d).The total surface area of the cylinder is given by:

(i). 2nx r x h+ 2’
(ii). 2mx r x h+ mr?
(iii). 2mx r x h+ 2nr?
(iv). mx r x h+ 2mr?

e). During the conversion of a solid from one shape to another the
volume of the new shape will:
(1). Remain unaltered
(i1) .Decrease
(iii). Double
(v) .Increase
PART-B

All questions are compulsory, in case of internal choices attend any one.



21.The traffic lights are at three different road crossings change after every
48 seconds, 72 seconds and 108 seconds respectively. If they change
simultaneously at 7am, at what time will they change simultaneously
again?
22. Write the co-ordinates of a point P on x axis which is equidistant from
the points A(-2, 0) and B(6, 0)
OR
Find the ratio in which the line segment joining the points A(5, -6) and
B(-1, 4) is divided by y- axis?
23.Find a quadratic polynomial whose zeroes are 3 ++/5 and 3-v/5
24.Draw a line segment AB of 9cm. with A and B as centers draw circles
of radius Scm and 3cm respectively. Construct tangents to each circle
from the centre of the other circle.

25.If tanA = 1—52 find the value of ( sinA+cosA) secA.
OR

IftanA = % , find the value of sinA cosC +cosA sinC

26.1In the given figure, O is the center of the circle. PT and PQ are tangents
to the circle from an external point P. If <TPQ=70° find <TRQ.

Q

27. Prove that 2-+/3 is irrational given that V3 is irrational.
28.If-5 is a root of a quadratic equation 2x*+ px- 15= 0 find the value of p
and the other root of the equation.
OR
If the roots a and B of the quadratic equation x>-5x + 3(k-1) = 0 are such
that « — = 1. Find the value of k.



29.In figure , ABCD is a square of side 14cm. semicircles are drawn with
each side of square as diameter. Find the area of the shaded region.

30.The perimeters of two similar triangles are 25c¢m and 15¢m
respectively. If one side of the first triangle is 9cm find the length of the
corresponding side of the second triangle.
OR
Triangle ABC is right angled at B and D is the midpoint of BC. Prove
that AC*>= 4AD?*- 3AB>.

31.1f the median of the following distribution is 24, find the missing
frequency x.

Age (in 0-10 10-20 20-30 30-40 40-50
years)

No. of 5 25 X 18 7
persons

32.From the top of a tower of height 50m the angles of depression of the
top and bottom of a pole are 30° and45° respectively. Find the distance
between pole and bottom of the tower.

33.Find the mode of the following frequency distribution table.

Class 25-30 30-35 35-40 40-45 45-50 50-55
Interval

frequency | 25 34 50 42 38 14

34.The angle of elevation of a cloud from a point 200m above the lake is
30° and the angle of depression of its reflection in the lake is 60°. Find
the height of the cloud above the lake.



OR
Two pillars of equal heights are on either side of a road which is 100m
wide. The angles of elevation of top of the pillars are 60° and 30° at a
point on the road between the pillars. Find the distance of the point from

the pillars and the height of the pillars.

35.Water is flowing at 4km/hr through a cylindrical pipe of internal
diameter 16cm into a tank of dimensions 22m X 20m X 16m. How

long will it take to fill the empty tank.

36.A two digit number is such that the product of the digits is 18. When 63
is subtracted from the number the digits interchange their places. Find

the numbers.
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Write whether T on simplification gives & rational or irrational number?
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Find K so that K+2, 4K-6 and 3K-2 are three consecutive terms of an AP,
3. I tand + cotd@ = 5, then find the value of tan8 + eof’s.

‘11 ONE 2600 OF the polynomial 3x* + Bx + K is the reciprocal of the other, then find the value of
K.
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P, Po Py Py
In the figure QF, Q2....coonnnns
does 'O" divides PQ.

9, Find the coordinates of point A where AB is the diame

are marked at equal distances, 1f what ratio

ter of the circle whose centre is (2,-3)

and B is the point {1,4).
10. A letter of English alphabet is chosen at random, Determine the probability that chosen fetter

i% a consonant.

OR
Cards marked with 3,4,5, ........50 is placed in a box and mixed thoroughly. A card is drawn

at random from the box. Find the probability that the selected card is a perfect SqUare,

[1. Ifsec® <+ tand = T find sec & —tand,
12. [f two tangents included at an angles of 90°, are drawn (o a circle of radius 3em, then find the

length of each tangent.

T

I the radii of two concentric circles are Gem and [O0cm, then the fiad the length of chord of one

circle which is tangent to the other circle.
13. I the first and last terms of an AP are 1 and 11 respectively and the sum of all terms is 36, find

the number of terms in the AP,
OR

If" the first term of an AP is 2 and common difference is 4, then find the sum of its first 40

lermis.
14. In which quadrant does the point P that divides the line segment joining the points A(2.-5) and
B(5,2) in the ratio 2:3 lie?
15. The base radii of a cone and a cylinder are equal, 1f their volumes are also equal, then find the
ratio of height of cone 1o height of cylinder.
16. Find the area of circle that can be inscribed in 2 square of side Gem,
OR
In the given figure, if the radius of the circle is 7em and £AQB = 90% find the area of the
shaded region ( = %‘;_)

' PR |
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Case study based guestions are compulsary. Amempt any four sub parts of each question, Each

subpart carries | mark.
17. Ina hridg_: game there are four perscns play and make a pair of two-bwo persons as pariners.
In a deck of 52 playing cards, distributed around the iahle clock wise in such a way that cach

person gets 13 cards. d | =4
& -

o .
ﬁq_; o ‘:,... ."n!..
o P

L B OLLLL RRMSe EPILPLMELIGERLEY BEEEY bW el SR YYID L3 a I.I'I.I'FE" U Ui AILPLEL S

i = | s L fy 2
' 28 24 ik % b 6
b. Find the probability that the card drawn is a card with number 5 or 6
" ! o 13 N . 1z
_l- T3 [ 5 n. . =
c. Find the probability that the card drawn is a card with no less than 8.
5 P iy 2
L. T "3 i o= iv. Mone of these
d. Find the probability that the card drawn iz a card with number between 2 and 9.
7 w5 S v g
i T i = i, = v, ==
e. What is the probability that any one person get quesn of spade?
(A i, 2 . |

LAMRIVE LNIS3 BRI AP BHE ¥ RS,  RMHY HEE JAUUTE WaRll WMET 1WA WY LR dA LIFE SLTUE R WISLEURG
from the centre of the village. Suppose the road start from point O which is outside the
circular village and touch the bosndary of the circular village at point A such that OA=20cm.
Also the straight distance of the point O from the cenire C of the village is ISEEH,A

a. Find the shortest distance of the road from the cenire of the villape
i 15em il 1dem i 1 em I 1 Peam

W WY FIRCEE IIPERFILL STMAIAN LI AP0 182 1IN LIRS SAIIIEsL LIRSLEINRE: 7
i.  Concept of langenl 1o a circle.
il,  Pythagoras theorem
iti., DBothakb
iv. MNone of Lhese
G e Pmﬂi 15 IS MM VI RAEGEC, BILMYY LIBIALY WNERFAD Will W% WML RNE LM il

o0 T N 11 PR |
W 01 WD CEPCICS @10 UIaVWIl GRUCIIRILY B 11K WIRF JTLL VLU Sly SETAE BEEIN SHI MR b
comman langenl.

Keital Madre Sahpasktog
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e. If we draw two tangent roads at the end of the diameter then these langent roads are  °

alwave

i.  Parallel ii. Perpendicular
LU CABUUGL WERS BIIUEL S[OPLS GLIPELILINDDN O, [Ne CURATor or INe stadmm s fasked with
preparing with the grounds for verious sports as per the technical requirements of sports
nvigilator. The arca was allotted to the Hockey court and ‘Javelin Range® as shown in the

iil. Coincident iv. None of theee

1%

A
RN
(520 c
f #Tj?’ H:.r:lnelgj
L= courl

B 5 D

RNl MY Dl F@ Vel D IREAIEES QLT SYUEIT Sl U laang s |EF‘|H.I\'EIJ’- p=Lela 0]

T Mg s

of the courts have a common edge that touches the centre of the stadium, The construction af
the Javelin range is such that the angle to centre is 90, the radius of the stadium is 200m.

a, The area (in sqm) allotted Javelin range is

i 11,400 ii. 20,000 i, 31,400 iv. 40,000
b. The area (in sqm) allotted to Hockey court;
11,400 il 20,000 wi. 31400 v, 40,000

i.
If the team of the cumators managing the stadium, likes to allot space for some more
sports, how much area in squm is available 1o them?
i. 1,25,699 i 1,056  §ii. 35,600 iv. 58,600
d. 1f the boundaries of the hockey court and Javelin range are to be fenced then the total
length (in m) of the fence required Js:
i 100 (2+5v'2) iil. 200¢2+5v2) iv. 20002+3+/2)

[}

o 100(2+3/2)

e. [ITthe costef fencing is Rs. 12 per m, then the total cost of fencing is:
L Rs. 1200 (2+3v2) ii. Rs. 1200 (2+5+2)
il Rs, 2400 (245v2) iv. Rs. 2400 (2+3v/2)

20. Due to electricity prohlem in the area Mr. Anilkurnar had complaint about the problem in the
electricity department.  In response to this complaint Mr. Subhash Singh and electricity
depariment attended the problem. In order to climb on the pole, the electrician put  iadder
9.5m away from the pole al the angle of 60°.

NS
AT

E

2. Given problem is based on the concept ol

Kariy Medie Sutmrdia
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iii. Coordinate geometry iv, Mone of ihe above
b. Find the length of the lndder
i I &m il 1%m iii. 1Tm i, l.ﬁm . _
c. If the foot of the Indder is moved away from the wall then the angle of clevation will
be;
i (a1i] ii. less than &0 iii. greater than &b iv. Mone of these
d. The angles of elevation and depression are always
. acute i, Obtuse iit. right angles iv, none of these
e. The angle of .......... of an ohject viewed in the angle formed by the line of right with
the horizontal.
i. elevation ii. depression

ii. botha&b  iv. none of these

FART -
All questions are compulsory. In case of internal choices, attempt any one.
21, ¥'m' and 'n' are the zeroes of the polynomial ax’ — Sx + ¢, find the value of *a’ and “c* when

T P, T )
M —mn— Lu &

21, The % coordinats of o point P is the twice its ¥ coordinate, [f P is squidistant from Of2,-5) and
Fui-3.8) find the coordinmes of P,

1TET Pa [ e the mninte af tricentiam af The Has seeeoeoi eoaimrae dthe aadois A5 % aoad B
LIS % 3 and o= LD POOINE DU INSSINIGN O LIRS NS SSpImant JINnIng R pOINE LSSy 35 -
Tl ks that T ln mansasds A Blod ks sco Bioneo —ET B ™)

P ¥ ] DUkl HIGE b 10 Pl W e L BLILE LI A LIERRD B3 WL o i

23. Find the value of p, far which one reot of the quadratic equation px’-14x+8=0 is 6 times the
ather. 2
" FMiiriass o las s el b T &l ool Piliae .odF h e TH = __-_...._- P [ W - ne u
L. LATAW 4 I SCEIMICTIL AL W l’EIIEI.II |l|..-|.-|u wm| MRl D fy CETINESS, UrEsy CITEeS o7 radius 2om
gnd 3ocm respectively. Construct tangents to each circle from the certre of the other circle.
25 From an external snine P ranceate PA and P are drosen fm n ejenla Ml smaci—e 1 BF 5 Feds P
® ¥ 1 FESETESE SRRl 8 FESSfgwEiad 05 0 aras B LS i R LRSI ES 00 FLF 0 i ii W ALL e W, I 2D =
507, then find £A0B.

in the adjacent figure, FT is a tangent at T to the gircle with centre O and radiug 3em, If 2 TPO
= 15" and PT = 4cm, then find the valus of x & ¥,

S| wilh Cas e
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26, 17+ Isinu=cosy, find the valee of p— 2 .E
11_ Fm"lt “m"_!‘.l 15 D0 ITTHY LY TFLITILAGT , RAWE T HIREE Bt 03 SE TR IR - -
%8, Prove (hat (sin +cosecd)’ + (cosfsecd) = T+ tan’d + cot’s 3

Prove that {1 +cotA-cosecA)(1-HanA +sec)
79, Find the area of the shaded region in figure iF ABUL) 15 8 reciangulsr WiTh 5I00s 3om and ocm

and O is the centre of circle (Take m = 3.14) 3 §

%

¥

L

%

30, In figure, 2ZACE = 90" and CDLAB, prove that CD¥ = BD=AD 3
ol

If P & O are points on side CA & CB respectively of AA8C rightangled at C prove that
(AQ" + BPY) = (AR 4PQ7)

31. A class teacher has the following absentes record of 20 shudents of @ class {or the whale term,

Find mean number of days a student was absent, 3
e | | T T LT
Moo W[ U] T [ 4 | & 37| 1]

1T A ke hent achoss eesed e obill water i 18hmidhr falee Fhr minee o oo 34k e sinctroam than
do. A ITROEE DO0L WITDRAER SIRERE G0 i vaabd i dsiRaliiin, weniea il sHRER A ghe SSRAEL Al TERE ik
to return downsiream to the same spot. Find the speed of the stream, 3

33. A solid wooden toy in the shape of a right circular cone is mounted on a hemisphere. 1f the
radius of the hemisphere and cone is 42em and the height of the toy is [0.2em. Find the

WHAIFLEIINE L] RHIE WWLRWGED WPy . b == - ™

34. In the figure, O is a point in the interior of the triangle ABC. 0D, DE.E’F are perpendiculars
drawn to sides BC, CA and AB respectively, Show that AF® + BDF+ CE* = AE’ +CD* + BF

Serhty MENT et

Hrmrwl el i Cas Fameeem
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. .!; B 1 [ 1
I the figure. PA. QB, RC are perpendicular ta AC. Prove that - 4 — "

4 WIHICH IET OF e AP -/ -12, -17. -2, ........ will be -827  Is -100 any term of the A.P?
Give reason for your answer, 3

0. 1TE ANEle o1 clevation of a cloud from a point h metres above the surface of a lake is O and the
angle of depression of its reflection in the lake is P, prove that the height of the cloud above

t tang
the lake is h{=o+anf,

5
tang—tans
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Answer Key of English QP-2

ANSWER KEY

CLASS X- ENGLISH

PART A
READING
L. On the basis of your reading of the passage given above, answer any ten of the
following questions: (1x10=10)
1. iii - humans today believe in leading a fast paced life
2. ii- impatience of our times
3. 1- we wish to accomplish more in a short period of time
4. iii - advises us to recognize time and decide what to do with it
5. iii) technology has changed the way we had lived before
6. ii) we appreciate our life
7. iii) Fact and opinion
8. 1iv) To push or urge someone to work harder.
9. iii) thrive

10.1ii- saturation
11.iii) traditional
12.i1) rebel

I1. On the basis of your reading of the passage given above, answer any ten of the following
questions: (1x10 =10)

1. iii - around seven million
2.i-9outof 10

3. 11 - low and middle-income
4. 1v - solid fuels

5. 11 — poor

6. 1v - due to house hold air pollution
7. 11 - lung cancer

8. 1ii - exposure to carcinogens
9. 1 - higher rates of smoking
10. i - role in cooking

11. iii - exposure

12. iv — carcinogen

III.  Read the extract given below and answer the questions that follow. (5 x 1 =5)



(A) i. b) A landowner

ii. (b) He has come to propose Natalya.
iii. (c) Awfully.

iv. (¢) Russia

v. b) Anton Chekov

(B) i. (b) one is to his family and second is to his community and country.
ii. (d) he was punished and isolated.

iil. (¢) The word is ‘obligation’.

iv. (d) Inclinations.

v. (d) all of the above

Iv.

i)

if)

iii)
VL

VIIL.

Read the extract given below and answer the questions that follow. (5 x 1 =5)
Ai. (a) The kitten and the mouse were so brave that they could scare away lions.
ii. (b) Custard cried for a nice safe cage because he was a coward.

iit. (d) The word is ‘Rage’.

iv. (a) Simile.

v. b) Ogden Nash

(B) i. (d) Amanda is getting instructions as a part of her upbringing.

ii (¢) Bend.

iii. (¢) Amanda is getting instructed for biting her nails and sitting lazily with her
shoulders bent.

iv. (d) Alliteration

v.b) her mother harasses her

Fill up the blanks using the right answer from the options. Attempt any ten.
(10x1=10)

b. are required

c¢. which have contributed
b. will

(b) what his qualifications were
(a) he had done Hotel Management from
(b) he had worked

(1) ¢) I would have helped him

o L
'\.r.'



(i1) b) the more arrogant he becomes
(iii) a) than the students stood up

(1v) a) had been reading
(v) d) will pardon
(vi) b) are

PART B
WRITING

I Formal Letter (Note: No marks to be awarded if only the format is given.
Credit should be given to the candidate’s creativity in presentation of the
ideas, appropriate use of language and skills of reasoning.)

Word limit: 100-120 words

Format - 1 mark (1.Sender’s address, 2.Date, 3.Receiver’s address,
4.Subject Heading, 5.Salutation, 6.Complimentary Close) 3
Content - 2.5 marks

Expression - 1.5 marks (Grammatical accuracy, Appropriate words,
Spellings, Coherence & Relevance of ideas and Style)

II.  Analytical Paragraph
Content -3
Format - 2

Literature

General Instructions: This section is meant to test the student’s familiarity with and
appreciation of the recommended texts. However, if the faulty expression prevents clear
communication, Y2 mark may be deducted.

III. Answer any four of the following questions in 20-30 words each.(2x4=8)
Distribution of marks: Content — 1 mark Expression — 1 mark

IV. Answer any four of the following questions in 40-50 words each.(3x4=12)
Distribution of marks: Content — 2 marks Expression — 1 mark

V& VI. Answer any one of the following in 100-120 words each. (5 marks each)

These questions have been set to test the student’s understanding of the text
and their ability to interpret evaluate and respond to the themes/issues
raised. Therefore, there can’t be just one correct answer. All presentations
logically supported by textual evidence must be considered correct.
Distribution of marks: Content = 2.5 Expression = 2.5
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Answer key of Social Science QP-1

QUESTION PAPER 2020-21

SOCIAL SCIENCE
ANSWER KEY
Class X Time allowed: 3 Hours
Max. Marks: 80
SECTION A
1.C. The formation of the ‘United Kingdom of Great Britain’.

2.C. Russia,Prussia, Austria,Britain

3.B. To protest against high revenue demand .

4. 1. Raise living standards

ii. Ensure full employment

iii. Ensure a large and steadily growing volume of real income and effective demand

iv. Expand the production of and trade in, goods and services, while allowing for the optimal use of
the world’s resources in accordance with the objective of sustainable development.

OR

AGRICULTURE

5. A. Dahiya — Madhya Pradesh
6. C. Barley

7. Black Soil

8. D. Ragi

9. B. Community Government

10. A civil war, also known as an intrastate war in polemology, is a war between organized
groups within the same state or country. The aim of one side may be to take control of the
country or a region, to achieve independence for a region or to change government policies

OR

Prudential is defined as the financial assistance made by some companies that offers financial
services to the people and they are completely dependent on the moral considerations.



11.Computer Sciences ,Space law, IT
OR
State Transport, Electricity, Forest etc....
12. D. A written, dated and signed instrument by a payee.
13. (a) Country A
14. (b) Per Capita Income
OR (¢) Commercial Banks
15. B. The companies do not have to pay taxes for an initial period of 5 years.
16. (b) Both A and R are true but R is not the correct explanation of A.
SECTION B
17. It was in 1942 when the world was going through the havoc caused by World War II.
India too was facing the heat and after the Cripps Mission had failed, and

on 8 August 1942, Mahatma Gandhi made a Do or Die call through the Quit India
movement.

Large protests and demonstrations were held all over the country.

18. He founded secret societies like Young Italy in Marseilles and Young Europe in Berne to
engage youth in the revolutionary activities.

He was sent to exile in 1931 for attempting a revolution in Ligunia.
He played an important role in awakening of the spirit of nationalism in Italy

(1) Mazzini put together a coherent programme for a unitary Italian Republic.
(i1) He had formed a secret society called Young Italy for the dissemination of his goals.

19. Afforestation.

Proper management of grazing to control over grazing.

Planting of shelter belts of plants.

Stabilization of sand dunes by growing thorny bushes.

Control of mining activities.

Proper discharge and disposal of industrial effluents and wastes after treatment.
Proper management of waste-lands.
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20. (1) Judiciary with the supreme court at the apex is the sole interpreter of Indian federalism.

(i1) It plays a pivotal role in the implementation of constitutional provisions and procedures.
(ii1) Judiciary administers both the union and state laws which are applicable to the cases coming
up for adjudication

OR

In holding together federation, the central power always will maintain its dominance over
constituent units which results in the lack of sovereignty often.

In the Coming Together Federation, the central government and the state always seem to have
equal powers

21. (i) Self Help Groups pool their savings.

(i1) A typical SHG has 15-20 members, usually belonging to one neighbourhood, who meet
and save regularly.

(ii1) Saving per member varies from Rs. 25 to Rs. 100 or more, depending on the ability of the
people to save.

(iv) Members can take small loans from the group itself to meet their needs.

(v) The group charges interest on these loans but this is still less than what the moneylender
charges.

(vi) After a year or two, if the group is regular in savings, it becomes eligible for availing loan
from the bank.

22. For economic growth, the existence of natural resources in abundance is essential. A country
which is deicient in natural resources will not be in a position to develop rapidly, but more
availability of resources does not ensure economic development. There are certain regions that
are rich in resources but are not economically developed. The resources and technological
advancement goes hand in hand. No state can ensure economic development if it does not keep
pace with the latest technology. Example: Northeast sates which are rich in mineral resources
but are considered to be underdeveloped because of lack of appropriate technology.

23.1. B. Portrayed female figures.
23.2. C. To personify a nation

23.3. B. Marianne

23.4. C. Weighing scales — Justice
24.1) b) Credit recovery is very painful
24.2) d) All of the above

24.3) b) Credit

i
..I.::'.r L

TR S R R
prrgete ol 8 b,



24.4) b) Debt trap
25.1. C. Right to Vote
25.2. B. Process of Transparency
25.3. C. It improves the quality of decision making
25.4. C. It transforms people from the status of a subject into that of a citizen.
26.1) ¢) Nitrogen
26.2) b) Capital intensive
26.3) a) Shifting cultivation
26.4) a) Aarhar
SECTION-C
27. RICH PEASANTS
POOR PEASANTS
BUSSINESS CLASS
INDUSTRIAL WORKING CLASS
WOMEN
OR

Moreover, for the plantation workers, 'swaraj' meant the right to move freely in and out of the
confined spaces and the freedom to visit their native villages. The workers after the beginning of
the Non-Cooperation Movement, disobeyed the authorities, left the plantation and headed to their
villages (EXPLAIN THE POINTS)

28. The tourism as a trade has flourished in India as mentioned below :

(i) There has been increase bf 23.5 per cent during the year 2004 as against the year 2003 and
contributed 21,828 crore of foreign exchange.

(i1) Over 2.6 million foreign tourists visit India every year.
(ii1) Over 15 million people are directly employed in the tourism industry in the country.

(iv) It promotes national integration because people from India also go from one place to another
place.

(v) It helps in the development of international understanding. Foreign tourists are attracted by
Indian culture and traditions.



(vi) It supports local handicrafts and cultural pursuits because tourists purchase many products
during their visits.

(vii) Foreign tourists visit India for visiting places of heritage or to have adventure in hilly region
or to have business with India.

(viii) Rajasthan, Goa, Jammu and Kashmir and temple towns of south India have attracted many
tourists from all over the world.

OR
.Roadways still have an edge over railways in India:

Construction cost of roadways is much lower than that of railways.

Roads can traverse comparatively more dissecting and undulating plains.

Roads can negotiate higher gradients of slopes and can traverse mountains like Himalayas.
Road transport is economical in transportation of few persons and small amount of goods over
short distances.

It also provides door to door services.

Cost of loading and unloading is much lower.

Road transport is also used as a feeder to other modes of transport such as they provide link
between railway station, airports and sea ports.

29. Functions of Political Party:

1. Political Parties Contest Flections: Elections are fought mainly among the candidates put
up by political parties.

2. Parties put forward different policies and programmes and the voters choose from them.

3. Parties Make Laws: Parties play a decisive role in making laws for a country. Laws are
debated and passed in the Legislature.

4. Parties Form and Run Governments: The big policy decisions are taken by political
executive that comes from political parties.

5. Role of Opposition: Those parties that lose in the elections play the role of opposition to
the parties in power by voicing different views and criticising government for its faliures.

6. Parties Shape Public Opinions: They raise and highlight issues. Sometimes they launch
movements for the resolution of problems faced by people.

7. Parties provide people access to government machinery and welfare schemes
implemented by governments. For an ordinary citizen, it is very easy to approach a local
party leader than a government officers.



30. The Path of accommodation adopted in Belgium by following ways:-
1) Dutch and French speaking ministers shall be equal in the central govt.

2) Many Powers of the central government have been given to state govt. The state govt are not
subordinate to the central govt.

3) Brussels has a separate govt in which both the communities have equal representation.

4) There is a third kind of govt called community govt elected by the people belonging to Dutch,
French and German no matter where they live

31. Workers are really exploited in unorganised sector in India. The following examples support
the statement

(i) Low salary An average nine out of ten workers of unorganised sector received wages below
the national minimum wage during 2004-05.

(i) Long working hours In most construction sites, labourers have to work for a time spread over
9-10 hours in a day.

(ii1) Temporary jobs On an average, a farm labourer finds employment for less than 200 days in a
year.

(iv) No facilities and benefits Many construction companies do not provide proper management
for their security and facilities at worksite.

OR

The Private Sector The private sector is usually composed of organizations that are privately
owned and not part of the government. These usually includes corporations (both profit and non-
profit) and partnerships. An easier way to think of the private sector is by thinking of
organizations that are not owned or operated by the government. For example, retail stores,
credit unions, and local businesses will operate in the private sector. The Public Sector public
sector The public sector is usually composed of organizations that are owned and operated by the
government. This includes federal, provincial, state, or municipal governments, depending on
where you live. Privacy legislation usually calls organizations in the public sector a public body
or a public authority. Some examples of public bodies in Canada and the United Kingdom are
educational bodies, health care bodies, police and prison services, and local and central
government bodies and their departments.

SECTION E
MAP WORK
32.1 HISTORY
A)CALCUTTA

B)CHAMPARAN(BIHAR).



32.2 GEOGRAPHY

(a) Rana Pratap Sagar Dam-RAJASTHAN

(b) Namrup Thermal Plant-ASSAM

(c) Bengaluru Software Technology Park-KARNATAKA
(d) Vishakhapatnam Port-ANDRA PRADESH

(e) Naraura Nuclear Power Plant-UTTAR PRADESH
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Answer

key of Science QP-1 (Physics)

19

20.

Grade 10

Physics answer key

SECTION A
. Particle size of the medium (D)
. Electric current (D)
. Concave lens (D)

. Flemings left hand rule-Magnetic field directed into the plane of paper. (1)
. Figure (Concentric filed pattern) (1)

. R=pL/A, A proportional to p

Resistivity of manganin is very large, so it thicker than copper. (1)
OR

Q=It=0.4x1hr

= 0.4x3600s=1440C

. 1. Change in direction of light when it passes from one medium to other.

ii. The presence of water droplets in the atmosphere, and
The sun must be at the back of the observer, i.e. the observer must stand with his back
towards the sun.

iii. Red has the longest wavelength among the visible colours. So it tends to bend the least
and the angle between the incident light and our line of sight for red is approximate 42
degrees. As a result, red appears on the top of the rainbow.

iv. Figure
v. option (¢)

1. The magnetic field depends directly on the current passing through it.
The magnetic field depends directly on the number of turns per metre of a solenoid.

ii. The Magnetic field of a solenoid increases when we insert an iron core because iron itself
magnetised due to strong uniform magnetic field produced by current carrying solenoid.
This help in increasing the magnetic property of solenoid.



25.

26.

33.

36.

iii. Figure

iv. Each segment of current produces a magnetic field like that of a long straight wire, and

the total field due to all loops of a solenoid is the vector sum of the fields due to each loop.
Therefore, the magnetic field produced by a solenoid is much stronger than the magnetic

field produced by a straight current carrying conductor.

v. Electromagnet definition

SECTION B
a. Spectrum of seven colours. (1)
b. Dispersion and its cause (D)
a. Diagram (1
b. R=10+5+1=16 ohm
I =V/R=24/16=1.5A (1)
SECTION C
Speed of light is inversely proportional to refractive index.
i. Maximum speed — medium A (1)
ii. Minimum speed — Medium D (D)

iii.Refractive index of medium D w.r.t A, n p/n 2=1.65/1.33=1.24. (1)

SECTION D

a. Voltmeter (1)
b. Definition of 1 volt (1)

Circuit symbols “t
c. i. Circuit 1 has more resistance (1)

ii.Circuit 2 Y2

i1iCircuit 2 —pd across each resistor is same. 2

OR

a. 1. Galvanometer shows deflection towards left. (1)

ii. Galvanometer shows deflection towards right. (D)



iii. Zero deflection.
b. Electromagnetic induction and definition.
c. Flemings right hand rule.

(M
(M
(1)



Answer Key of Science QP-1 (Chemistry)

Chemistry
ANSWER KEY-GRADE 10

1. Slver chloride decomposes in presence of sunlight to form Ag and CI2. The grey colour is due to the
formation of Ag. (1)

Or
Potassium react violentely in water to form KOH.
2. NaHCO3/Sodium bicarbonate. (1)
3. a. Change in chemical properties.(1)
14. R is not the reason for A.(1)
18.1i. Cs> Rb > K> Na> Li (1)

ii. Valancy of an element will be the number of electrons in the valance shell, if the no of
electrons is 4 or less than 4

Valancy of an element will be 8 minus the number of electrons in the valance shell , if the noof
electron is more than 4.(1)

iii. Right side (1/2)
02, N2 (1/2)
iv. Increase down the group.(1)
v. Any element in the second group.(1)
23.C2H4 (1)
Alkene family(1)
Or

Structural isomers are compounds having different structural arrangement but same molecular
formula.(1)

CH3-CH2-CH2-CH3 butane and CH3-CH-CH3 (1)
CH3
24.a. Q>P>R>S (1)
b.Q +CuS04=QS04 + Cu (1)

30. a. 2PbNO3 = 2PbO + 4NO2 + 02 (1)



b. 4Fe + 6 H20 = 2Fe203 + 3H2 (1)

€. 6C0O2 + 8H20 = C6H1206 + 602 + 2H20 (1)
31.a.D (1)

b.C (1)

c.E(1)

32.a.

b. Mg2+, Na+ (1/2)
c. In the presence of water only the ionic compounds splits into ions (1/2)
34.* Aqueous Sodium hydroxide-13
Milk of magnisium-10
Brine-7

Gastric Juices-1  (2)

* 2NaHCO3 =(Heat) Na2CO3 + H20 + CO2 (1)

Uses-

-Ingredient of antacids (1)
-Soda-acid fire extinguisher (1)

Or

a.i.B(1)

ii.C>A>D>B(1)
b. i. Plaster of Paris changes to Gypsum with water ,giving a hard solid mass.(1)

ii. CaS04.1/2H20 + 11/2 H20 = CaS04.2H20 (1)



. Uses
- Making toys

- Used to make plaster for supporting fractured bones.



Answer key of Science QP-1 (Biology)

BIOLOGY
Grade: X Answer Key
SECTION A
1. To ensure maximum reabsorption of nutrients. 1
2. Gustatory Receptors — Tongue 12
Olfactory Receptors - Nose 12

3. When the body of Planaria is cut into pieces by any means specialized
cells in each piece proliferates and grows into a large number of cells. From this cellular mass the
cells undergo differentiation and further form various cell types, tissues, and develop a complete

new organism. 1
OR

Algae — Protozoa — Small Insects — Large aquatic Insects — Small fish — Large

fish.

4. Biodegradable and non-biodegradable wastes should be discarded in two separate bins as this
helps in effective treatment and disposal of these wastes. Biodegradable wastes can be easily
disposed by natural way of compositing while non-biodegradable wastes can be sent for safe

disposal or recycling. This helps in protecting the environment from pollution. 1

OR
The inheritance of each trait is determined by 'factors' (now known as genes) that are passed
into descendants. Individuals inherit one 'factor' from each parent for each trait.

5. (O) 1
6. (B) 1
7.
a) Ozone protects life on Earth from the Sun's ultraviolet (UV) radiation. 4
b) Chlorofluorocarbons (CFCs)
c)
UV rad

Oy 5 5
G:‘I‘Dégs

d) Ozone (O3) forms a layer in the upper atmosphere, it is very essential for the life on this
planet. It shields the surface of the earth from ultra-violet (UV) coming from sun as these



radiations are very harmful causing skin cancer and cataract in humans. It also does harm
to the corps.
e) Avoid the consumption of gases dangerous to the ozone layer, due to their

content or manufacturing process. Some of the most dangerous gases are CFCs
Minimise the use of cars.

SECTION B
8.
a) Ovary - Production of ovum 12
b) Oviduct - Fertilization of egg and sperm 12
c) Uterus — Development of embryo 12
d) Placenta — Nourishing the embryo 12
OR

In birds and mammals have a double circulation system where both the oxygenated and
deoxygenated blood maintains separate.

It is necessary for them to separate oxygenated and de-oxygenated blood so that their
circulatory system is more efficient and can maintain their constant body temperature.

9.

Chain of buds

I!'Jﬂ'ﬂnpmu b
Mew bud
b | i.'.'1'15-'[ okl
/‘ﬂﬁﬂ —Ir
?hf
2
SECTION C
10. Male parent produces X bearing and Y bearing gametes or sperms. 172
Female parent produces only X bearing gametes or eggs. 1/2

During reproduction, the combination of X bearing gamete from males with one X bearing
gamete from females results in offspring with genetic constitution— XX. The child produced

is a female or a daughter. 1/2
The combination of Y chromosome from males with one X chromosome from females results
in an offspring with genetic constitution — XY. The child produced is a male or a son. 12

Koia Medre Saoadaua



Male Female

i - TURE -

cametes (%) & () (%)
e - (%) (0

Offspring Female Male
Diagram 1

OR
Biological magnification is defined as the accumulation of a particular substance in the body of
the organisms at different trophic levels of a food chain.
One example of biological magnification is the accumulation of insecticide DDT which gets
accumulated in zooplanktons. Small fishes consume these zooplanktons.

11.a) A - Stigma 12
B - Pollen tube 12
C -Ovary 12
D -Ovule 12

12. There is diversity in the genetic makeup of the individuals produced by sexual reproduction.
Since both the parents are involved, the newly formed individuals have the attributes of both.
Variations are more successful in sexual mode than in asexual one.

The species produced by sexual reproduction survive more than those produced by asexual
reproduction. This is because genetic variations help them to adapt to different environments.

Any two points (1)
13. a) Gonorrhea and Syphilis 1
b) Voice changes may happen, as the voice gets deeper

Body size will increase, with the feet, arms, legs, and hands. ~ Any two points (2)

SECTION D
14. a)

P L I . | PPEFRS
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Moath

Liwar

intesting b1 . Intesting

Anug — Bactum Drawing and labelling 3 1/2

Pepsin - Pepsin is a stomach enzyme that serves to digest proteins found in
ingested food 172
HCL - Hydrochloric acid activates pepsinogen into the enzyme pepsin. In
addition, many microorganisms are inhibited or destroyed in an acidic environment,
preventing infection or sickness 172
Mucus- The mucus covers the stomach wall with a protective coating. 172
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Answer Key of Mathematics QP-1

ANSWER KEY

SUB:MATHEMATICS
MAX MARKS :80

TIME: 3 HRS

PART A
SECTION 1

60

4

10

11&33

30 OR a=28

4

-5,-2 OR k=1/2
10cm

. 23 OR3V3
10.10cm

11.2:3

12.1

13.3

14.Length of arc=6/360 x2nr

© W NOUAWN P

=60/360x2x22/7%x21=22cm

15.3:1
16.1/9 OR 0.15
17.a) (15/2,33/2)

b)4

c)16
d)(2.0,8.5)
e)x-13=0

Faplar Hdndia P P
LT LS WHAAN A



18. a)l5cm

b)they are not the mirror image of one another.
c)their altitudes have a ratio a:b

d)5m

e)em

19.a) (4,-2)
b) intersects x-axis
c)parabola
d) x>-36
e)o
20. a)43

b)60
c)median
d)80
e)31

21.  48=2%x3
72=23x3?
108= 22x 33
LCM =432 seconds =7min 12 seconds
They change at 7:07:12

22.Let P(x,0) be a point on X axis
PA? = PB?
(x—2)2+(0+2)*>=(x+4)*+(0-2)?
X2+4—4x+4=x*>+16+8x + 4
-4x + 4=8x +16
X=-1
P (-1,0)
OR



Let y-axis divide AB in the ratio k:1
kx(-1) +1 x5/k+1=0
-k+5=0
K=-5
Y=14/6=7/3
Required point is (0,7/3)
23. a+B =3+/5 +3-/5 =6

ox B =4
Required polynomial =x?-6x+4

24.Correct construction
25.tanA=5/12
hypotenuse =13
sinA=5/13
cosA=12/13
sinA + cosA=17/13
(sinA+cosA) secA=17/13x13/12=17/12

OR

_ 1 A_an0
tanA= NG A=30

sin30 cos60 +cos 30 sin60= 1/2x1/2 +‘/7§ X E =1

2
26. £2T0Q =180°-70° =110°
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(angle at the circumference of the circle by same are)

= - ®x 110° = 55
27. Let 2 - /3 be rational

2-4/3 =a/b where a and b are co primes

2-a/b =3

Since a and b are integers ,2-a/b is a rational number.

But v/3 is an irrational number which contradicts our assumption and
hence

2 —+/3 is irrational.
28.Since -5 is a root
2x-52+p(-5)-15=0
2(25)-5p-15=0
5p=35
pP=7
Other rootis 3/2
29.Area of a square =14 x 14 =196
Area of semicircles =mr?
=22/7x49 =154sq.cm
Area of two shaded regions=196-154=42sq.cm
Area of 4 shaded region =4x42=84sq.cm

1
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30.Perimeter of ABC/Perimeter of DEF=AB/DE

25/15=9/DE
DE=5.4cm
OR

Given AABC is right angled at B and BD=DC

To prove AC?=4AD?-3AB?
In AABD , AD>=AB? +BD?

In AABC, AC?*=AB?+BC?
AD?=AB? +BC/2)?
AD? = AB? +(BC)?/4
4 AD?=4AB? +BC?
4AD?- 4AB? = BC?
AC?=AB? +4AD?-4AB?
AC?*= 4AD?-3AB?

31.

f cf
Age
0-10 5 5
10-20 |25 30
20-30 (X 30+x
30-40 |18 48+x
40-50 |7 55+x

Median =I+( (N/2 -cf)/f) h

=20 +( (55+x)/2-30)10/x

24 =(55+x-60/2x)10
4=(( x-5)/x)5
4x=5x-25



X=25
32.

A
,_,_T C
B D
In AABD,tan45=AB/BD

=1
AB=BD=50m

Distance of pole from bottom of tower=50m

33. Max frequency50
Class (modal)= 35-40
I= 35, fo =50, f,= 42
mode = |+( fo—12 / 2f1— fo—fz) h
35 +(50-35/100-34-42)5
=35+16/24 X 5=38.33

34.In triangle ABE, tan 30 = AB/BE
1/v/3 = AB/ BE
BE= V3 AB
In triangle EBD, tan 60 = BD/BE
V3 =BD/V3.4B



m
0 |
60 zlnum
D E
(m + 200)m
F
3AB=BD
3 AB=BC+CD
=200+ AC
CD is the reflection of AC
=200 + AB+ 200
2 AB =400
AB =200m

Height of the cloud above the lake = AC = 400m
OR
Let AC be the distance between the two pointi.e, AC = 100m

AB and CD are the two pillars ata an angle of elevation 60° and 30° from

h m e "
oz
B = P

(00 -2 D

In triangle ABP, tan 60 = AB/AP

V3 = AB/ 100-x



AB =+/3 (1100 -x)
In triangle PDC, tan 30° = CD/PC
1/+3 =CD/ x
CDV3 = xnt
ABV3 = x(AB = CD)
AB=x/+/3
From (1) and (2) x/v/3 =v/3 (100 —x)
X =3(100 -x)
X =300-3x
4x = 300
X =300/4=75
PC=75mand AP =25m
Now height, AB = x/v/3 = 75/v/3
75 xv/3/3=43.25m

35.Water flowing through pipe in 1 hr = rr?h
=mt x 8/100 x 8/100 x 4000m3
=256 X 22/70 m3
Water required to fill the tank = 22 x20 x16m?
Time taken to fill 254x22/70 m? water = 1hr
Time taken to fill 22 x20x16 m?® water = 70 x22 x20 x16/256x22
=175/2 hrs
=87.5 hrs
36.Let units digit is x then tens digit = 18/x
Number = 180/x +x
On interchanging the digits the number becomes10x+ 18/x
According to the question 180/x + - 63 =10x + 18/x
180 + x2 — 63x/ x = 10x%+ 18/x
180 + x> — 63x = 10x% + 18
9x?—63x+162=0



X2+7x—-18=0
X?+9x-2x—18=0
(x+9)-2(x+9)=0
(x+9)(x=2)=0
X=-9orx=2

i.e, unit digit is 2, tens digit is 9.
Number =92
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{tanf + cotd)’ = '
tan'd + cot’ B+ 2tanfcotd = 25 L4
tan'd + cot’d = 25-2=23

I RTL KD T LR LR SRETRR,

| = | It the roots of the equations are equal, then b’ -4ac =0
| [BK}" = d4=x9xd) =0 .

36k -26x4=0 :
bk = 36x4

|| | Perimeter (AABC) = AB+RC+AC :
0 .
={AB+BO) +{OC+AC) 8 =
I

=[AB+BP) + {CO+AC) g £ |
’ b /L )\ o
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1 Consider AADE & AABC i} 3
DE||BC, LADE = £ABC i
£DAE = LBAC
ARDE ~ARBC Y e

8 PO:O0 = 11:8 |1 \
g Let A be the point [xy) || ]I
3 =203

ﬁ =

2 T
1-3 i*-aﬂ\w‘m

2.
=3

Y=§-4 =10
Coordinates of A = (3,-10)

Ho.of conyenents %

10
Total tetters 1

P(alphabet is consonant) =

Fa)
=
oR

Total number of cards = {50-3) + 1 =48 "

Number of perfect squares=6 W

oo B4
Probability = — =

1 SecA+tanf =7
1 1 bl

zec@+tanl 7

sech=tand = 1
(zechefond)secl=tand) 7

secl=tand 1
secif= pan?d 7

1
Sec-tanf = =

b

’ 12 |' Let PA & PB be the tangents inclined at 90"

£PAD = 90%; LAPO = %90 = 45° t %
LPOA = 45" D
PA=AD = 3cm

L
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s

PR = Bcm
PO = 2m@=15cm

on

OF=10cm; GR= Gom; @
= 10767 =
PR’ = 1076 = 64 | A

AR T,

0= VT
3&;’*:{12

n=h

OR

S, .‘i {2a+(n-1}d

Va

¥

Let Plxy, vy} be the point that device line segment AB In the ratio 7:3

INSEINT IMT4IN-5
-
i I+1 ' 342

16

“"T. Py
=g

'i'nT ®

& I'Eq}

P liesin IVth quadrant

&
(5.

15

Vieane = WV oyinder
;:':r'h =nR'H

k_I2 K3
Wty iR

Ratio = 3:1

Let the radius & height of cone be rand h & radius and height of cylinder be R and H,

16

Diameter of the circle = side of the square = Bcm

r=% = e

Arga = 7 = = ra3xd= 9 mem’

OR

Area of shaded reglon = Area of Circle = Area of Triangle
sar’- Ybh

- %xf - YxTe7 = 129 5cm°

Y

17
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13

]

3
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e

(=

—

18 a. 15cm
b. Both a&h
c. 0
d
=

. 4
. parallel

19 a. 20,000
b. 20,000
c. 85600

d. 200(2+3+/2)
e. 2400 (2+3v/2)

| 20 a. Angle of elevation & depression

b. 19m

¢. Less than 60"
d. Acute

e. Botha &b

: Va=5 a=5h
c=10

Kothi-Metro Saroanaya
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22 =2y
P2y, v)
e zpp?
TRp TRy T ey 1oy v L yTLy

NE=F Sy
/~4y+41-1l]y+25 = 1y+9+36
by +29 = 45

6y=45-29 = 16

fo—==
6 3
16 8
a'a
OR
P divides AB in the 1;2
AL | et
P 2 b )

Q divides AB in the ratio 2:1
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Let @ be one root then the other root be 6x.

a+6 o=
F

} 8p? -24p=0
Bp(p-3)=0
p=0or3

p=3

Frcadad dduibe s FPatonade. o
AL PHIERLY O (LALLM
L

TG T L



V)

\14 \ Construction

%5 | Join OP. Letit intersect ABt M. #PAO = 90° (tangent is Lr to the

radius through pt of contact,

ZOAM = 90-50=40
ZAMP =9p”

ZBPO = 40°
ZAPB =40+ 40 = 80

ZAOB = 180-80=100"
OR
£TPO = 25°
ZPTO = 50"

ZTOP = 180—(90+25) = 180-115 = 65°
¥= 180-65 = 1157

In APTO, v* = 3% + 4% = 9+16=25
y=5cm

From AAPM, Z£APO = 180-(50+90) = 40°
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+/3sinu = cosu

Sl 1 4

cosn 43 ot V3
u= 30"

Jcos?u+2cosu _ 3¢5 30+2c0530
Jeosu+2  3cos30+2
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Let 5 g where p& q are integers, g0

Sp=2q .

Since piq are integers,

I5 a rational number.

V3 is rational. This contradicts the fact that +3 is irrational :

number,

T4y ;
— - isanm irrational number

LHS

(sinf+cosechl)’ + (cosA+secd)’

=sin‘G+cosec’d + 2sinf.cosecH+cos B +sac’l +2cosd.sech

=1+#2+2+cosec’ B+sec’d
=5+1+cot’A+1+tan’d
=7+tan’G+cot’d = RHS
LHS= RH5

OR
LH5

[1+cotA-cosech){1+tanA +sach)
(084 1 sind 1
i sinA sinA’ cogd i m.;.l"
= f;im+¢m-1]{3fnﬂ+mm+l]
5inA ensd

_(sinA+cosA)* =17
findcosa
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_sin*cos® A+ 2sinAcosA—1

_ L]
SImACOSA /
'hm.ﬁcl;lsﬂ.
sindcosd 2 RHS / ||
| MS=RHE f I J
¥ | Area of rectangular = 1x6-8xG=48cm?
Ina AABC by Pythagoras theorem b e ( /
AC = AB? 4+ BC? = 82 467 = 100 L |
AC= 10cm [ [ ‘
Radius OC OF circle = —;E:Ecm
1

Area of circle = 7r? = 3. 14x52 = 78.5cm?

i
=785-48= 30.55q.cm
/ﬂm | Given #ACB = g
£ADC = 90% +CDB = gg”

To prove CO° = BDxAD
| Proof

} Area of shaded region = Area of circle - Area of rectangular

[

Py D B

AADC ~ ACDB — If a perpendicular is drawn from the right angle

of aright triangle to the base, then the 2 small tria nghes on either
sides of the big triangle are similar to each ather. '
=5 (Epartot~a) | 3
CD* = BD xAD |
| OR

Given £ACE = a0°

| To prove
(AQ” + BPY) = (ABL4+PQY)

Proof

Jain PB, AQ | I
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' in AACQ, AQ” = AC” +CQ° (By Pythagoras theorem ). ... ...... (1}
in APCB, BP? = BC” +PC” (By Pythagoras theorem) ... ccoeeene{2) \
i

f21f2) i
A + BP? = ACT +cQ*+BC? +PC? \ \
AQ®+ BP? = [AC? +BC) + (CQ*+PCY)
| AQ® + BP? = AB? + PO .
[ Hence proved
] 31 '| l Class Intervals | x f £y f
]
(EI-E 3 10 30 [
\&u g 11 99
'\11-13 \ 15 7 105 I| 4
\13-1:1 \ 21 4 84 j
'i 24-30 1' 27 4 | 108 I| ||
'| 30-36 33 3 99 {
J 36-42 ET) 1 19 N
| 40 564
o Lfx _ 564
Mean number of days = 57 - g - 14.1=1adays |

132 | Let the sneed of straam = v km/he |
Speed downstream = (18+x)km/hr
Speed upstream = (18-x}km/hr

Time for going 24km upstream = ;‘E;hrs

Time gor going 24km downstream = mi:—h rs
X

Itis given time for going upstream is 1hr more than the time taken

for going downstream.

24 24

1H=¥ 1H+x
24 (184x)— 24{18=x) i1
{18-x){184x)
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2ax+24x
1&1 -y =

8% % = 1852

X%+ 48 x -324=(Q
X 45Ax-6x-324=0
x{x+54) -6{x +54)=0
{x -6} (x +54)=0
x =6km/hr

as speed cannot be -54

speed of stream = Gkm/hr L

33

Volume of toy = volume of tane +volume of hemisphere

2 3 1 !
=nr +3n‘r‘?h

=3'.rrr1|’1r+hj
1 23 3
3 %7427 (2x4.2+6)

1
=266.112cm’

Given ODLBC OF LAB OELAC #

To prove
AF* +BD” +CE? = AE? +CD? +BE?

Proof
{ Join OB, OC and QA
In rtd AFO, AF? = 04 —OF*

in rtA BDO, BD? = 0B* —0D*?
In rtACEQ, CE® = OC* -0F?
Adding AF* +BD® +CF"= 0A%+0B%40C%-0F%- 0D OF ~emeea(1) l
Inrt AAEQ, AE* - 0A%-OF*
In tACDO, €D = 0C* - Opn*
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In FLABFO, BF® = OB — OF*
adding
AE? +CD+BF? = 0A+0B +0C-0F-0D%-0F" .......(2)
From (1) & (2) AF?+BD+CE™ = AE*+CD?+BF? 1
OR

Consider A PAC & A QBC
£A=£B=90" (Given)
£C=2£C (Common) P

A PAC ~ A QBC (AA ~) £
PA AC %

—

¢B  BC * w'

¥ b
: S R
=

S S | :

Adding (1) +2)
B
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Wil M= HIE HIW
S R

+

Hence proved
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-1,-12,-17.......

=7
=5

an = -B2
8. = a+in-1 Il
-82=-7 +[n-1)-5
= (n-1)

J n=16
Let -100 be a term of the AP
-100=-7+(n-1) -5

—93
s -1

n=186+1=196

nis not an integer. So -100 is not a term of the AP

36

X
AB = (1)

Inrt AAGF

AE+GE
GF

h+x+h
AR

_Zh+x

tan{ =

tan@ =

C I
re - * |
i o
h| g 8
\ b lake
EJ T,
| h g
Arh | ~ o A+h
|
x | 9'5 ™
In rt AABC, tanf = — L
AB G F
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[ rom (1) 2) 25 = 222

xtand = 2h+tan@ + xtanf

x (tan@ - tand) = 2h+tang

_  2htang
fan@-iand

Height of cloud above the lake = x+h
2htand
tan®G—rtand

+h

- htanb+htan@—htand

tanfi—tand
_htanf+htano
tand~tand

hitan@+tanf
|| (tand—tanf)
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